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AMSOFT and AMSTRAD welcome you to the world of the
CPC464 computer - where value for money, perfomance and
quality combine to provide a complete service
to the personal computer user.

AMSOFT

169 Kings Road,
Brentwood,Essex
CM14 4EF

AMSOFT is pleased to hear if you have a program for the CPC464 system that
you feel will be of interest to other owners -contact the
Software Development Manager and submit a brief summary of your proposal,
accompanied by a working example of the program
- which will naturally be treated in confidence.
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PREFACE

This is Part 2 of a self-study course on programming in BASIC
using the Amstrad CPC464 Colour Personal Computer. Whereas
Part 1 is intended for the beginner, More BASIC is suitable for
anyone who is familiar with the principles of programming and
already understands the most commonly used BASIC
commands,

The two datacassettes that accompany this written text contain
computer programs that are an integral part of the course.
Datacassette A contains:

7 Programs to help illustrate the techniques described in the
text.

] Games for vour amusement and to demonstrate the
capabilities of the CPC164.

[atacassette B contains:

_ Relf-assessment tests to make sure vou have understood the
content of the preceding chapter.

The third part of this series covers the most advanced features of
Amstrad BASIC and is intended for experienced programmers.



Chapter 1

HERE WE GO
AGAIN

Uy read Part 0ot this serfes, v wia have already learnt a
certiis pumber o Amstrad BASTC commanid= and will have a
verv gond idea of the capabilities of the Amstrad CPO4B (Colour
Persona, Computer. Hopefulty, vou will also huve tried out your
new-found knowledge by writing a few programs of your own
and have had the satisfaction of seeing them run successfully -
not the first time. mavbe. but still...! This part of the course
is intended to consolidate what vou learnt in Part 1 and to give
vou an even more extensive vocabulary of Amstrad BASIC
commands.

If vou skipped Part 1. it is worth our repeating that Amstrad
BASIC will not necessarily work on other computers - and vice
versa. This is because it contains many unique communds and
functions that are not available on less sophisticated
equipment.

Each time a new kevword, or an extension of a previously
described kevword, is introduced, it ig printed 1n the outsice
margin so that you can easily flip back through the pages when
vou need to vefresh your memory.

HOW TO USE THIS BOOK

Although this book has been written with a minimum of
computer jargon. it would be very tiresome 1f we kept calling a
spade a ‘wooden-handled. straight-metal-bladed garden
implement’. Within any specialised field of study it is inevitable
that some words acquire special meanings, and computing 1s no
exception. So we will start off with a look at the main terms used
to describe the commands of Amstrad BASIC.

Tach chapter of this book represents about one or two evenings’

Here We Go Again
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I

work. Typically 1t will contain:

O Written explanation

3 Practical work on the computer

1 Examples for vou to program vourself

There are exercises to reintorce what vouhave learnt, and there
is & programmed selfzussessment test to go with each chanter,

Don't skip chapters. New information is introduccd
progressively through the book and is built on the knowledge
obtained from previous chapters. If you think a chapter or
section of a chapter looks a bit complicated, just read it quickly
onee or twice and then work through itslowly. The exercises and
the programs that vou are expected to enter vourself are
intended to help vou to understand the prineciplesinvolved in the
<ubject under discugsion, so don’t miss them out. Make sure that
vou understand by means of the self-assessment tests.

After completing this part of the course yvou should be able to
write vour own computer games, or hobbies and business
software - not terribly sophisticated as vet, but that only comes
with experience. Part3 of this course will instruet you further in
the fine detail of Amstrad BASIC,

COMMAND DESCRIPTIONS

In Part 1 we saw that a command is made up of a kexvword and
(mostly} one or more arguments, as In the line-drawing
command:

DRAW «, ¥

where the arguments ‘X’ and "\ give the graphic co-ordinates of
the position on the screen to which the line must be drawn. As
vou already know. putting in the wrong characters or leaving
spaces and characters out when typing in the command may
produce the message SYNTAX ERROR™ So what 1s svntax?
And why do vou need a comma in the middle of the command?
All will be clear before the end of this chapter.

Syvntax

In ordinary English the sentence, 'The tail was wagged the little
dog by, is inept and ridiculous. There are not many of us (we
hope) who would dream of breaking the rules of our language in
such a way. The syntax, Le. the order in which words are placed
in a sentence, is badly wrong. Even so, it is a measure ol the
superiority of the human brain over the computer that it is still

Here We Go Again




possible to understand the sense of the phrase and to
compensate for the inadequacy.

A more extreme case is where there is an unclear connection
between the parts of the sentence:

The tail-the little dog was wagged

If the connecting word 'b¥’ is not added at the right place thereis
considerable doubt as to what wagged which!

In BASIC the rules of the syntax are even more rigid than in
ordinarv English. There is no question of an [F-THEN-ELSE
branch being an equivalent to an [F-ELSE-THEN branch - the
second one just doesn’t exist in BASIC, In the same way, if you
forget to leave a space between one word and anotherin English,
it may make it a little more difficult to read but it is still
understandable. If vou omit a space at a critical point when
writing BASIC, the CI?C464 will not be able to work out what you
were trving to tell it and will often flatly refuse to run the
program until you have corrected the error.

There are a lot of new and sometimes complicated commands to
be learnt in this book so, to save time and space, a sort of
shorthand will be used to describe the syntax of each command.
This involves some unfamiliar terms and punctuation which
require some explanation. Study the following glossary
carefully. You may have to refer to it continually until the words
become familiar,

Command glossary

Brackets Certain commands and functions require that the
argument(s) be enclosed in round brackets (¥, e.g. CHR$(97).
Round brackets are also used to impose the order in which
arithmetic operations are carried out.

In this book we will also use two other sorts of brackets for
describing commands. The first sort, pointed brackets ‘<>’
mean that whatever they enclose is described elsewhere. The
second sort, square brackets ‘||, show that whatever they
enclose is optional.

Defaults When the CPC464 is switched on, orreset, there area
number of things, such as the screen, border and text colours,
which are set up automatically. In addition, there are commands
like DRAW and PLOT which, once the INK has been specified,
can have this argument omitted in following commands. Values
such as this are known as defaults and we shall see later that
there are many commands where optional arguments have
default values.

Here We Go Again
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Expression See Integer Expression, Numeric Expression,
and String Expression.
Integer Expression A numeric expression containing real ox

integer numbers whose result is rounded to the nearest whole
number hefore it is used,

Integer number Whole numbers; that is, they do not havea
decimal part,

Keyword A word reserved for use in BASIC commands such
as RUN, MOVE and PRINT, or BASIC functions such as RND
and INT.

Numeric expression This can be one of four things:

T A number, c.g. 20473611

C A numeric variable, e.g. ‘total’

O The result of a numeric operation, e.g. ‘total’252% percent’
O A function, e.g. 'LOG (x)

Real numbers Numbers that have a decimal part.

Separators Used in BASIC to define the beginnings and ends
of kevwords and their argumenis. The usual separators are;

comma )
semi-colon ()
space {)

In our command descriptions we will also use the colon {:) to
show when an argument may consist of a list of items.

String expression Alphanumeric information which may be
one of four things:

A string enclosed by quotation marks, e.g. *“Name”’

A string variable, e.g. ‘type$’

The result of a string operation, e.g. ‘type$ + “Name™’

A string function, e.g. ‘LEFTS(A$.3)

ogonog

rxample of a tvpical command

Take a careful look at the following:

DRAW {x co-ordinate), {y co-ovrdinate) [, {ink)l

where:

<x co-ordinate>> = integer expression

<y co-ordinate> = integer expression

<ink>> = integer expression
Because both <x co-ordinate™> and <y co-ordinate>>are described
as expressions, we know that we can put into those positions

Here We Go Again



either a numeric value, or a numeric variable, or a combination
of values, operators and variables which will resultina numeric
quantity. Both of these integer expressions must be included
in the command. If either, both, or the separator (,) are missing
when the line is entered, the CPC464 will give the "syntax error’
message.

Conversely, ‘. <ink>’ is enclosed in square brackets. If you leave
out this part of the command the CP(C464 assumes that vou are
happy for the current INK to be used as a default, and doesn’t
give you an error message. As a general rule, where an argument
is optional it is because there is a default value of some sort.

So, every command in Amstrad BASIC can now be described in
the same way. By using these brackets and separators, and now
that you know what the different sorts of exXpressions are, we
don’'t need to spend too much time on the subtleties of each
command, Notice, for instance, that our DRAW command
requires integer expressions for the co-ordinates. This does not
mean that only whole numbers can be used here, but that the
CPC464 rounds the value in these arguments to the nearest
pixel. So you don't have to worry about decimal parts in these
expressions.

If you refer to your copy of the Amstrad CP(C464 User Guide, you
will sec that we are using exactly the same set of conventions. In
this way vou can quickly understand the use of any command
not covered in the following chapters.

PLAYTIME

Load the first program from Datacassette A, SHEP. You can
then spend an enjoyable half-hour pretending that vou are a hill
farmer directing vour faithful sheepdog to get two rather stupid
sheep into their fold. Have fun!

Here We Go Again
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TESTING

For those of you who didn’t go through Part 1 of this course, First
Steps, it would be a good idea to run the first Self-assessment
Test, SAT1, to make sure there are no aspects of Amstrad BASIC
that you need to study before going on to Chapter 2. Even if you
did complete Part 1, a littie revision wouldn’t do any harm!

Here We Go Again



Chapter 2

REHOUSING

We will meet quite a few old friends from Part 1 in this chapter:
the house for a start. Our original design was rather long-winded
with all those MOVEs, so now is the time to learn how tomake it
shorter and neater. Then we are going to have a more detailed
look at variables.

Before all this though, let us have a look at a group of commands
which are aids for program entry.

ABOVE AND BELOW THE LINE

When vou have used LIST to display long programs on the
monitor screen. it has probably been a bittedious waiting for the
hit vou want to come round. In fact the command hasan optional
argument which speeds things up quite a lot. The structure is:

LISTL(line wnuwber range)]

where <line number range> can be one of four things. The best
way of understanding what these are is to try them out as
follows. Load the next program from Datacassette A, called
CHATEAU, but don’t run it. Then enter:

LIST 1006
As vou can see, line 100 is put on the screen on its own.
Now try:

LIST —100

This time the CPC464 gives you all the line numbers up to and
including 100. Now you no longer have to be fast on the ESC
key to stop the listing where you want to.

17



For the third example entey:
LIST 100200

to get all the lines between and including 100 and 200. If you
imagine that vou have a niggling bug in that part of a program,
vou can easily see how useful this is for pulling out just that
section onto the sereen each time there is a change to be made.

And, finally, tryv:
LIBT 700~

which gives you all the lines from 800 through to the end of the
program. It is especially useful if vou follow the normal practice
of putting all your subroutines at the end of the program,
starting at a particular line number.

The next command is DELETE. The syntax is as follows:
DELETE (lirme number range)

You will notice that the argument is not optional, but otherwise
it can lake line number ranges in identical fashion to the LIST
command. Entering, for example:

DELETE 100-200

will wipe those line numbers out of memory, so that the next time
vou LIST they will not appear on the screen.

Be careful when using this command. If you haven’t saved a
copy of the program you may accidentally rub out quite a lot
of hard work, Where it is useful, though, is when you want to use
some routines from an existing program. Just load the program
and delete what vou don’t want.
The next useful command in this groupis RENUM. Y ou will now
see why we need a type of shorthand to explain the syntax:

RENUM [ {new line nuwber)]

[,[¢old 1ine nuwber)ll, {(increment) 1]

These optional arguments allow you to renumber the ines of the
current program starting at the position given by <Jold line
number>> beginning with <new line number> in steps of
<increment>. If vou don’t specify any of the arguments, the
default values are assumed. These defaults are equivalent to:

RENUM 10, , 10

The missing argument merely indicates that renumbering starts
at the first line in the program.

If you still have any of CHATEAU left after playing with the
previous command, you can try out the various optional
arguments before giving a RENUM by itself so that you get the

Rehousing



default arguments. Notice that RENUM automatically updates
the GOTO and GOSUB references.

Finallv. there is a command thatsaves youthe chore of typing in
the line number each time. This is AUTO, and 1s used as follows:

AUTO L{line nuwber)lf, {increment?]

The argument <line number> is the number at which you want
to start and <increment> is the size of the step between
numbers. If, for example, you enter:

AUTO 100, 5

the CPC464 will put 100 at the beginning of the nextline, leave a
character space and leave the cursor in position so that you can
complete the line by tvping in a command. When you hit the
ENTER kev it does the same thing again except that the number
will be 105 this fime.

AUTO numbering is terminated by pressing the ESC key.

If there is already a line in memory with the same number asthe
one just generated, an asterisk (*) is printed as a warning. If no
action is taken before pressing the return key, the new line
replaces the old one.

VARIABLE VARIABLES

The wav variables were described in Part 1 - labelled storage
places for numbers and strings - was only part of the story.
There are actually two types of numeric variable, real and
integer; both these and string variables may also be subscripted.

Real numeric variables

Real numbers or expressions may have a decimal part or may
even have a value less than one. Another name for these 1s
‘floating point’ variables since the decimal point is notin a fixed
position. The following are examples of real numbers:

1234862.01

0.000000154768119

2.3
When vou specify a variable, either by a LET or by implicationin
an expression, the default is that it will be real. For clarity in
vour programs, you could make sure you can recognise them by
using the suffix ', for example:

LET finallength'!'=zmeasure*coeff*0.0001

Rehousing
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Integer numeric variables

If you want to work in integers only, i.e. whole numbers whichdo
not have a decimal part, it is necessary to specify this by adding
the suffix “% to the variable name, for example:

LET percent%=100%profit/cost

The variable 'percent’ can only ever contain integers, and any
decimal part of any value stored in it will be rounded to the
nearest integer.

Subscripted variables

Subscripted variables are sometimes called ‘hst variables’
because they can store lists of similar data rather than just a
single item. They can bereal, integer, or string variables. and are
described by:

{(variable name} ({list of! (subscripts))

where <subscripts> are integer expressions. Whole lists of
variables can therefore be stored under a common name but with
different subscripts.

For example, take the top six football teams in the first division
at the beginning of April 1984:

Team Points
Taverpool 69
Manchester Utd 67
Nottm Forest B0
QPR 5Y
Southampton a6
West Ham 58

Now suppose that we want to store information so that it can be
updated week by week, and the list printed outin the latest order.
If we number the league positions from zero to five the current
points of the team at that position can be stored in a subscripted
variable called ‘points(n) where ‘n’ is the league position, as
follows

Variable Cantenis

points{0} 69

points(1) 67

points(2} 60

points(3} H7

points{4) 56

points(d) 5h)

Rehousing
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A able ot dava dike the one above is also known agan arras, and
o ix the term we shall use from now on. 1 Strictly speaking. our

seathall points table 1s a one-dimensional array - we shall see
why later on in this chapter.)

Yiu would probably also want an array of strings with the
names of the teams at each position.

CHATEAU

[ don't suppose there are many of us who have not been taught
that chateau is French for castle. What vou maynot knowis that
it is also the name used for particularly nice mansions in one of
the richest parts of France.

Having massacred the program in the first part of this chapter,
vou would be well advised to rewind the cassette and load the
program again. The intention hereis to show how a program can
be progressively improved, and so our original HOUSE program
has had several rebuilds to bring it into the luxury dwelling
class.

So, having loaded the program, run it. It looks just like the
MANSION program with its window panes and fence, doesn’t
it? If you look at the listing below, however, you will see that the
program has been completely rewritten.

100 7 Chatead

110 7 (Improves MANSIUN)

120 7

130 7 DR 17/3/84

140 7

150 mQODE ¢ ¢ BORDER 14

THCOTNK O 13 ¢ IR 1,3 T INS 2 & ¢ INK 3,17
170 RAPER O

ign

180 * Borders

poln e I

210 REARD =, v

220 IF y=—1 THEN Z90
SIT0OIF x=0 THEN colour=y § 5
=400 IF x40 THEN MOVE -wx, -y ELS
=50 BOTO 210

zE&0 7

270 7 Fence

=280 7

SO0 FOR F=0 TO 620 STER 2O
OO MOVE FLOiDRAW F,EO

2070 210
E DRAW #,vy,colour

Rehousing
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310
320
230
340
Z30
Z60
370
380
90

NEXT F
MOVE O, 45:DRAW 620, 45

' Window fFrames

¥

size=108

FOR i=1 TO 16

READ x,ysMOVE X,y

DRAWR O, size : DRAWR size, 0

400 DRAWR O,~size? DRAWR —size, O

410 NEXT

420 °

430 END

440 7

4%0 ° Data for edges

460 7 in pairs ! pegative = move

470 ! t 0O,x = gcolour change
480 : 0,1 = and ‘
490 °

500 DATA 0 1

SO
S20

DATA -100,-50, 100,250, 400,250, &400,5%0, 100,30
DATA —400, -250, €00,3250, 600,50, 400,50, &00,2Z50

530 DATA 500, 350, 600, 250, 400, 250

540 DATA —100, 250, 200,350, 500,350

280 ?

I6C ' Door

570 ?

580 DATA O, 2

590 DATA -225,-50, 225, 140, 275,140, 275,50

&0o0 7

6£i0 * Large HWHindows

£20 7

630 DRTA 0,3

640 DATA -120,-70, 120,130, 180,130, 180,70, 120,70

650 DATA —120,-170, 120,230, 180,230, 180,170, 120,170

660 DATA —320,~170, 320,230, 380,230, 380,17C¢, 320,170

£70 DATA —320,-70, 320,130, 360,130, 380,70, 320,70

£80 DATA o, -1

&90 °

700 * Data for little windows

710 7

720 DATA 130,78, 156, 78, 130,103, 156,103, 130,176

730 DATA 156,178, 130,203, 156,203, 330,78, 356,78

740 DATA 330,103, 356,103, 330,178, 356,178, 330, 203,

356,203
The first thing you will notice is the use of the apostrophe () sign
instead of REM. It operates in exactly the same way - anything
following an apostrophe is ignored. As you can see, the
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advantage is that the layout can be a lot clearer with dummy
lines between explanations and remarks.

And here are two important new keywords for you as well,
DATA and READ. In our MANSION program in Part 1 there
were a lot of successive MOVE commands to get the graphics
cursor into the right place before issuing a GOSUB. A neater
way of achieving the same end is to put all the positioning co-
ordinates in the same place and then use variablesin the MOVE
and DRAW commands. This is exactly what READ and DATA

allow you to do.
The syntax for DATA is:
DATA {(list of: {constant?

A list of numeric or string constants can be used, separated by
commas. In fact almost anything is acceptable, since a line of
rubbish with no comma in it will be taken as one string constant.

The syntax for READ is:

READ {(list of:{variable}

A <variable> can be either string or numeric, separated by
commas.

The following few lines show how these two commands work
together:

10 FOR x=1 TO 4
20 READ N%

30 PRINT N%

40 NEXT

50 DATA Ann, Dorothy, Jill, Sharon

Each time the program executes the READ command, the next
string constant in the DATA statement is put into the variable
N$. So, when x=1 ‘Ann’ is printed, when x=2 ‘Dorothy’ is printed,
when x=3 ‘Jill’ is printed, and when x=4 ‘Sharon’ is printed.

You may have wondered if there was any way of avoiding
having to write out long DATA statements all over again when
you needed exactly the same values to be read more than once.
The keyword that can help you do this is RESTORE. Here is
the syntax:

RESTORE [{line number}]

Rehousing




To understand how the argument <Zline number> works, vou
have to remember what happens each time the CPC464 executes
a READ command. No matter how many DATA statements
there are, or where they are in the program, they are read one by
one in the order in which they appear. After each READ
command is executed the CPC464 sets up a pointer which
indicates the next constant to be used when the next READ
command is executed.

The optional argument in the RESTORE ¢command allows yvou
to reset this pointer to the first constant of the DATA statement
at or following the position in the program identified by <line
number>>. By this means vou can re-use or select data constants
dvnamically during execution of a program. Omitting the
argument will set the pointer to the first constant of the first
DATA statement in the program.

ARRAYS

As promised, we are now going to have a look at arrays. Earlier
in this chapter we saw that you could make up tables by using
subscripted variables. You then get the effect of a certain
number of boxes with a commoen name.

This, then, is a one-dimensional array, ‘widgets(a)’, where ‘&’
gives the number of a particular box. Printing ‘widgets(3) gives
the number of widgets in box 3. We can subdivide further to give
a two-dimensional array, widgets(b,a) where ‘a’ is the number of
our box, within its own carten, and ‘b’ is the carton number.
Printing ‘widgets(15,3) gives the number of widgets in box 3 of
carton number 15,

WAREHOUSE 2 .
T P AT JE T TN
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And before vou ask the question, the answeris ves, youcan have
three-dimensional arrays, but we won’t be bothering with them
in this book. In fact, the CPC464 lets you use arrays of as many
dimensions as you like (subject to line length and available
memory), as you can see from our illustration:

S0, how do you use an array? Well, enter the following and run it
10 widgets (5)=47

=0 for m=0 to 20
30 print widgetsin);

40 next

Note that each of the positions in the array designated by a
subscript is known as an“element’, and the numbering starts at
zero. Line 10 assigns the value 47 to subscript 5, 1.e. the sixth box
in the array, and the remaining lines are just to print the
contents of the entire array. What you will get on the screen 1s:

O 0 0 0 0 47 0 0 0 0O 0
Bubscript out of range in 30

The efror message is because there is a new command to learn,
but we'll come to thatin a minute. You can see that the CPC464
sets the initial value of subscripted variables to zero, so the first
five zeros represent the values of elements 0, 1,2, 3 and 4, and the
last five zeros the values of elements 6-20. So what happened to
element 117 Well, unless we tell it otherwise, the CPC464
assumed that any array we use has 10 elements or less, which
explains why we got an error message.

For arrays with more than 10 elements we have to use the DIM
command to specify the maximum size of an array. The syntax
is as follows:

DIM {list of!{subscripted variable’
where <subscripted variable> is, of course:
{variable mname) ({list ofi{integer expression))

Each <integer expression> sets the maximum value allowed for
the corresponding subscript.

We can therefore get rid of the error message in two ways. The
simplest is to stop the loop at 10 instead of 20! But if you really
insist on a 21-element array, you can add the following line:

S DIM wicgets (200

Try it.
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PLAYTIME

The next program, VILLAGE, gives vou not just one house but
lots of houses!

TESTING

Check that vou have fully understood all this new information
by running SAT2 before going on to the next chapter.

Rehousing



Chapter 3

PAINTING BY
NUMBERS

If vou have been confused by the relationship between PEN,
PAPER and INK up till now then read on. If not, then read on
anyway since it is probahly a lot more subtle than vou think!

The CPC 464 can display 27 different colours (see table overleaf),
which can be putinto 16 different ink pots. However, the number
of ink pots within range for drawing depends on the MODE.

In MODE 0 you have a range of 16 inkpots. in MODE 1 youhave
4, and in MODE 2 vou have just 2. Imagine now that whenever
vou PRINT text you are using a quill and a sheet of paper that
have each been dipped in an ink pot.

Switch on or force a restart (SHIFT CTRL/ESC): you are in
MODE 1, and you therefore can haved4 inks on the screenat once.
All 16 inkpots have been filled with their default colours. The
screen is blue because it has been set to the colour of PAPER,
which has defaulted to INK O (colour 1). The text is in yellow
hecause it was written by the PEN which has defaulted to INK 1
{colour 24).




Number Colour Number Colour

0 black 14 pastel blue

1 blue 15 orange

2 bright blue 16 pink

3 red 17 pastel magenta
4 magenta 18 bright green
3 mauve 19 sea green

6 bright red 20 bright cyvan
7 purple 21 lime green

3 bright magenta 22 pastel green
9 green 23 pastel cyan
10 cvan 24 bright vellow
11 sky blue 25 pastel yellow
12 vellow 26 bright white
13 white

Type PEN 2. Now new text is written in bright cyan (colour 20).
Type PEN 3 and the new text becomes red {colour 6). Tvpe PEN 4,
however, and the new text will be blue - the same as the paper.
This is the same as typing PEN 0 since although there are 16 ink-
pots, you only have 4 colours within range in this mode. In fact
the PEN really Aas been set to INK 0. In this mode the CPC464
just refuses to set it outside the range 0 to3:it has converted your
request for INK 4, which is out of range, into INK 0 which isin
range. Similarly, INK 5 would be converted to INK 1, INK 6 to
INK 2, INK 7 to INK 3, INK 8 to INK 0 again, and so on.

You still have blue on blue, so type PAPER 1 carefully, because
you won't see any mistakes you might make. If you've got it right
vou will now see the word ‘Ready’ in blue on a yellow
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background. This is because when the CPC464 puts a character
on the screen, it uses a square background, just large enough for
one character, which is in the INK of PAPER. The character is
then writtenn on this background with the current PEN, so the
vellow surrounding ‘Ready’ is the result of drawing a character
with the newly defined background.

Entering CLS will set the whole of the screen (except the border,
of course) to the new yellow PAPER.

Now we come to the tricky part. Let’s say we don't want yellow,
we want white instead. This involves using the INK command.
Enter:

INK 1, 26
I.o and behold, everything that was vellow is now white!
This is what happened. To change vellow to white we had to
empty inkpot 1 (which contained vellow) and refill it with white,
colour 26. So 'INK 1,26’ means ‘change the ink in pot 1 to colour
96" It does not mean ‘change colour 1 to colour 26",

You will remember that INK 4 was defaulted to white, even
though it is out of rangein MODE 1. Now we have whitein INK 1
as well. That’s perfectly all right - we can have the same colour
in as many pots as we like:!

Of course, the CPC464 is constantly, dipping into the inkpots to
refresh the screen (50 times a second in fact) so everything that
was vellow becomes white. Try changing the colour of another
ink, say blue into orange. The blue 1s in inkpot 0 and orange is
colour 15 s0 we type:

INK 0,15
Now change it back to blue:

INK 0,1

COLOUR AND MODE

B\ DDADIE

In MODEs 1 and 2 you can put any pumber in the range 0-15
after the PEN and PAPER commands, but the CPC464 will
change the value it uses to refer to the lowest numbered inks, i.e.
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in MODE 2 whatever INK vou try to set PEN and PAPER to,
only INKs 0 and 1 are within range, and so on. However, the
same is not true of the INK command. The colours of all 16 INKs
can be affected, although vou won't see this unless vou change
modes.

—

13
BE
[« "

Force a restart, then tvpe:

MODE QIPEM 13
Note that the colour of the text is pastel green. Now type

MODE 1

and then

INK 13, 26
Nothing changes since INK 13 is far out of range in MODE 1.
Now type MODE (:PEN 13 again. The text is now white, not
pastel green. What we have proved is that you can change the
colour in an inkpot even when it is out of range in the current
screen mode.

COLOURED DRAWINGS

Here are the syntax descriptions of our old friends the P1.OT and
DRAW commands:

PLOT (x co-prdinate), {y co-ordinate’ {, (inkd]
DRAW {x ro-ordinatel, {y co—ordinate) [, {ink)1]
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INK DEFAULTS

Ink Colour
0 1

1 24

2 20

3 6

1 26

D 0

6 2

7 8

o] 10

9 12
10 14
11 16
12 18
13 22
14 1,24
1o 16,11

The <x co-ordinate> and <v co-ordinate™ must be numeric
expressions. If the INK argument is not included, the line or
pixelis drawn in the currentink of the graphics pen. Thisis setto
INK 1 by default, but every time a command including the INK
argument is used, the line is drawn in the new ink and the
graphics pen is set to it.
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Changing the text PEN INK does not affect the INK with which
vou PLOT and DRAW. Enter:

DRAW &40, 400

You should get a line across the screen the same colour as the
text. Now enter:

MOVE O, 0:DRAW 640, 400, 3
The line will be redrawn 1n INK 3.

Type in the following program after forcing a restart.
10 CLS
20 r=401y=20010=1
30 FOR w=40 TO &00 STEFRP 40
40 FOR i=-y TO r STEP 2
50 h=SH@R(r#®pr—i%i}
60 PLOT x—h, 1+vy,C
70 DRAW x+h, ity
80 NEXT 1
Q0 c=c+l

100 NEXT x

Type MODE 0 then RUN, You will see a series of variously
coloured disks drawn across the screen, each partly covered by
the next. Don’t worry how the disks are drawn, it is the colours
we are concerned with.,

First, remember that in MODE 0 you have all 16 inkpots within
range and filled with the colours vou see. Secondly, you change
the colour you PLOT with by putting the INK number after the
co-ordinates. Now look at the listing. In line 60 we have a third
variable, ‘¢’, which specifies the INK to use. In line 90 we see that
‘e’ 18 increased by one each time the ‘1" loop is completed.
Variable ‘¢’ has aninitial value of one, line 20, RUN the program
in each mode to confirm what has been discussed so far in this

chapter.

Finally, RUN the program in MODE 0 and then experiment by
typing some INK commands like INK 6,12 and INK 2,15.
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WINDOW DRESSING

Once vou have mastered the manipulation of PEN, PAPER and
INKs you should be able to create some interesting effects. Even
more elaborate screen displays can be achieved once you have
learnt a few more details about the CPC464's ability to mix text
and graphics.

First, let us study the ORIGIN command. Those of you famihar
with mathematics will know that the origin of a graph is the
point where the horizontal and vertical axes meet, usually x=0,
y=0.

The CPC464’s display is made up of 256,000 individual points.
There are 640 across the screen tnumbered 0 to 639 from lett to
right), and 400 up the screen (numbered O to 399 from bottom to
top). These points are not the same as pixels, which are madeup
of a different number of points depending on the mode. Each
pixel can be designated by the co-ordinates of any of the points of
which it is comprised.

PIXELS
Y A

Mode 0 [ —

Mode 1 f—i-

Mode 2 ]

Each of these points can be referred to individually for the
purposes of drawing graphs, ete. Plotting 0,0 will cause point0.0
(and ali the other points in the same pixel) to be set to the
graphics pen.

Plotting values of x and y that are outside the limits above (x =0
to 639 and v = 0 to 399) will not cause an error. This is because the
CPC464 remembers your position off the screen and continues to
execute PLOT and DRAW commands, even though youcan't see
anything on the screen.
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The ORIGIN command allows you to ‘move’ the co-ordinate 0,0
to anywhere on the screen, or off it! Being able to do thisis very
convenient for plotting graphs.

Force a restart, then type in the following program:

=
o~

10

20

0

40

(=18

7O

80

CLG

PLOT

CRAW

DRAW

DRAW

DRRW

DRAW

DRAW

DRAW

0,0

200, 200
400, 200
200, 350
~100, 3350
-100, 100
0, 100

0,0
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RUN the program and vou will see that an irregular polygon of
no particular significance has been drawn. Note how part of it
cannot be seen because it is off the left edge of the screen. Now
type ORIGIN 1500 and then RUN. Clever isn'tit! You have just
told the CPC 164 to consider the point 1500 relative to the bottom
left of the actual screen as the co-ordinate 0,0 and to do all
PLOTing and DRAWing relatuve to this new origin. The bottom
Jeft corner of the sereen is now referenced by PLOT -150.0.

Don't get confused about whatis happening. Imagine a piece of
paper on an enormous drawing table: you can draw anything
vou like on the whole of the table, but the paper only remembers
what actually passes over it. The rest might as well never have
happened.

Try putting in some different values for the origin such as =500
or 200,-50. Once you have done that add some more lines to the
program:

% FOR eo=0 TO 100 STEP 10
& ORIGIN 100+o0,0
90 NEXT o

and RUN.

You will have come across the CLG command before - ithas an
effect similar to CLS. Here is the syntax:
CLE L[{inmk?]

CLG clears the graphics window and moves the graphics cursor
to wherever the co-ordinates 0,0 are. The optional argument
<ink> will fill the graphics window with the ink specified. But
just a minute, you may say. what is the graphics wi ndow? Well.
it's the whole screen until vou tell the CPC464 thatitisn’t. Youdo
this by an addition to the ORIGIN command. Type in:

QRIGIN 100,06, 0,300, 200, 0

This tells the CPC484 to move the origin to co-ordinate 1000 and
also to limit the grapbics window to all pixels 0 to 300
horizontally and 0 to 200 vertically. Poing this will chop off all
but the bottom left quarter of the screen.

It's about time we looked at the syntax of ORIGIN:
CRIBIN (xy, {y> [, {left), (right), (top), {bottom}]

All the arguments are called ‘absolute screen co-ordinates’ and
must be numeric expressions. An absolute screen co-ordinate 1s
just like the numbers you give to DRAW or PLOT, except that it
is alwavs relative to the actual bottom Ieft corner of the screen. It
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doesn’t matter whether a previous ORIGIN command has
moved co-ordinate 0.0; the next one alwavs has the same effect.
In other words a new ORIGIN or window is not relative to the
last setting of co-ordinate 0,0; but to the bottom left corner of the
screen.

Enter CLS and then RUN the program. You will see that the
graphics display is now limited to the lower left quarter of the
screen. LIST the program two or three times then type CLG. Just
the lower left quarter of the sereen is clearved. Enter the following:

CLS: PAPER Z: CLS

You should have a red screen: now type CLG. Our graphics
window is blue. Now RUN the program to complete the effect.

Tryv some different values [or the window, e.g.

ORIGIN 100,0, 301, 600, 400, 201

will move the window to the upper right of the screen. To return
to normal you would type:

ORIGIN O, 0,0, 653,333, 0

WORDS AND PICTURES

The following listing is of the next program on Datacassette A
called SINCOS which we are going to use to illustrate some of
the new keywords and to introduce a couple more.

100 7

110 7 Sine ang Cosine Graoh
207

130 7 By lan Pacwick

140 7 Amended by DA 21/9/84
150 7

160 7 Set up screen

170 7

180 MODE 1:BORDER ZO

190 INK O, 23:1TNK 1, 20 INK Z, CIINK 3,325
200 ORIGIN 1644, 200,108,534, 510,36 ¢ CLG 2
210 DEG 7 use degress 1in sinfcos

220 PEN ZiLOCRTE 4.4

220 PRINT'Graphs of Sirme and Zogineg functions’
240 7

Z50 PLOT O -100,3 @ DRAW O, 100

60 PLDT 3I60,-100 @ DRAW IR0, 100

270 PLAOT 4,0 : DRAKW Ze0, 0

280 PLOT 90,7 : DRAWR O,-14
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230 PALOT 180,7 : DRAWR GO, -14
00 PLET 70,7 i DRAWR 0, ~14
SL1G TAk

ITZ0 O mMOVE -Z0 104 3 PRIMT Y1U:
ITO OMOVE 20, 4 : PRINT "0#q
40 MOVE ~36, 94 @ PRINT "=—17;s
IS0 MOVE -4, -110 & PRINT "0
TEOD MOVE 78, -110 3 PRINT "90%"1
Z70 MOVE 138, -110 @ PRINT 180"y
IO MOVE 248,110 1 PBRINT "Z70":
330 MOVE 3IZ8,-110 ¢ PRINT Y3IROY:
400 MOVE S0, -1Z8 ¢ PRINT "Angle 1n deavees";
410 7

420 7 Draw sing purve

430’

aaQ FOR x=0 TO Z&0

450 PLAT x, 100¥5IN(x), i

460 NEXT

470 mOVeE 132, %0

480 PRINT'SINZ;

430 °

500 7 Draw cosing curve

Si0 °

520 FOR =0 TG 350

IR0 PLOT x, 100%*CO05 (13, 2

540 NEXT

S50 MOVE AQ, ~BOIRPRINT"COSINE"
560 7

570 7 Tidy up

=580 7

590 TAGDFF @ LOCATE 1,1

E00 WHILE TNKEY#$="" 1 WZhD

&30 END

After running the program, study the listing above. First, line
150, The border is set to colour 20. In line 200 we see an ORIGIN
command that sets a graphics window in the centre of the
screen. Our new origin is 144,200 and the window is limited to all
points from 108 to 534 horizontally and from 56 to 310 vertically.

The command DEG in line 210 tells the CPC464 to do all its
caleulations of sines and cosines in degrees instead of radians
(sce Chapter 8)and lines 250 to 300 draw the axes for the graph.

The keyword in line 310, TAG, allows you to do some clever
things with PRINTed text. When you PRINT ordinarily, the
characters are assigned to the ‘cells’ into which the screen is
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divided and to which we can refer using the LOCATE command.
The text cursor points to the cell where the next character will be
PRINTed.

TAG stands for Text At Graphics cursor and when it is in
operation all PRINTed text commences at the graphics cursoer
instead of the text cursor. Since we know that the graphics
cursor can be anvwhere on or off the screen, this allows great
flexibility when PRINTing. In this exercise we are going to use
TAG to label the axes and curves of the graph.

The reason we have a special command to achieve thisis thatit
is much slower for the CPC464 to draw a character on the screen
if it straddles character cells.

The graphics cursor is moved around by the MOVE or MOVER
command. Type LLIST 310-400 and wvou will see how the
PRINTing is done. Note that the semi-colon after cach set of
quotes is used to suppress a pair of arrows that would otherwise

he PRINTed.
Fnter the following:
CLS:TAGIMOVE S0, SO PRINTYHELLD THERE"

and vou will see the arrows, If we weren’t using TAG, these
characters would move the cursor to the start of the next line.
Since we are using TAG we have no use for them.

For every character the graphics cursor takes the top left
position within each 8-pixel-by-8-pixel character cell, and is
moved & pixels right for the next character. Note that if younow
type PRINT“L.OLO", the characters are PRINTed at the text
cursor once more. TAG is switched off after ENTER is used; that
is why the first line above was tvped in as one line, Type
TAG:PRINT"1.OLO " once more the characters are PRINTed at
the graphics cursor.

Note also that the ink for the TAG text is the graphics and not
the text PEN ink. To change the ink you have to use the third

TAG

Graphics
Cursor
Address
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argument of PLOT or DRAW since there is no command like
PEN to change the graphics pen directly. Similarly, the
background colour for the characters is that of the graphics
window, no! PAPER.

Lines 440-530 carry out the calculations and PLOTing for the
graphs (which may or may not be familiar to vou). In Chapter 6
the uses of SIN and COS will be fully explained and reference
will be made to this program. Line 590 has the keyword
TAGOFF which does exactly what vou think it does - it returns
PRINTing to the text cursor. Note that when TAG is on,
LLOCATE still moves the text cursor around the screen, even
though nothing happens there until you issue a TAGOFL.

PIE CHART

The next program on Datacassette A is PIE CHART. It is a
further example of a program that uses both words and graphics
on the same screen.

Pie charts are even more popular with sales managers, market
researchers and socivlogists than bar charts. The reason is they
can show percenlages as a portion of a total cake. rather than
just relative to one another. This program only asks you to enter
the numbers you want displayed - it even calculates the
percentages for you! Try it out before studying the following
listing.

Pie chart
DR 30/79/784
Screen

S0 CLERR

Dim rmames (T, amount (9) 7 oatianal
Mane = ! BORDER 173

TR O, &3 1 LMK 1,0

RPRPES O ¢ 2EN 3

PRINT CHRE(ZD) (CHREO) ¢

GOSLE S 7 neacing
7
250 o=y
280 WHILE JRPER$ (as)="Y"
27007
2e0 GOSUB 650 ° ger gata
2RO e
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E00 GOSUR 3930 7 Draw ole
JL0 7

I20 LOCATE 1,19

IEG OINPUY YAgain (YSANM) TLa%
340 WEND

350 END

60

70 7 SUBROUTINE @ Draw a cirveils
80 7 Centre & ®.V

2E0 0 Radius 5 1

400 °

10 mMOVE x, yt+r

G20 s=0.7 ¢ TFineness of SCUT

4%0 FOR 1=0 TO Z#PI+s o780 3

a40 DRAW x+SIN{1)®r, w+IES (0 #r, 1
450 NEXT

4GB0 RETURN

470 F

480 7 SUBROUTINE & Brint neading nage
430

500 ULS

S10 LOCATE 35,2 ¢ BRINT "Pie Chavrt!

g

570 MOVE 2EO, Z60:DROW I56, ZE0iDRAW ITE, 390 1DRAKW

DRAKW 260, 360
IO OWINDOW 580,35, 25

2EC, 3901

S40 PRINT "This oregram cempnstirabes a simsle suabrouting

which Wwill craw pie cnarts”

IE0 PRINT “Ffraom 2 set of  information supplied. Y

shpuld enter the data as a’
560 PRINT Ynumeric  list gilving 3F you wish
gcann ittem, The prograrm 1s"

a mawe To

570 ARINT “desigrned to  accent ten r1ters criy although

the nie roubinge within will”

SO0 PRINT “work with as many 1iTems A% you wish,

vou alter the inzsut orogeam’

5930 LOCARATE 25, 75PRINT"Pres

00 WHILE IMKEYSO " " 1 WEN
10 RETURN

BEn

E30 7 SUBRRDUTINE : Set 10 data items

&40 7

550 TLE

SORCE e continue”

i

!

=0

6O BRINT"Please enter the arount and the the descriotion

5f eacn itewm. The li1st wili®

E70 DPRINT"terminmate after 10 entries or :f you give a

negative value for anm ampunt’
680 HARINT

£90 LOCATE 18,4 @ BRINT " Omowet® 1 LOCDATE E5, 4

"Descrioction”

00 entry=0icount=0

7i0 WHILE ( entryr=0 ) AND { count (10 )

TEC LGRATE 9, S+count ¢ FRINT Yitewm T joounitd
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IO o LDUeve 13
amont (Couss )l Fent ry

740 L00A7E Bk Steount 8
750 count = gaunt +

TEC WEND

IF entry)=0 THEN count=pounttl

Wy

Se+paount 1 INILT Yo entiry

o mame$ (Count

= ocournt - & mow=ne of YALIO items

i=0 TO count

=, simramalnt (1)

NEET 1

DRINT @ PRINT TAR(LID) " Thank yvou. NOw Oress SoaCE
T ses tne ohart’”

GaD WHILE IasEyYs (b 7 0 1 WzhD

Rz bl

T

TGUBRDUTING ¢ Draw tne pDie
Entry variapies @ ox,y, P — oertrea and raritug 0f civeole

B ¢ count — runber of ltems
: s amount (0} to ampunt (count) — items

T4

-

NN - VL
HO5UR 410

e
e
3]
w
i

o= O oldo = O

i

FOR d=0 Caunt wmaly Looo

cowmly 0 TErg oumuaistor

to gurrens Zar

1F ocumscuawtamount (31 8 NEXT

105 ; atovE (a5t 2ar

COE0 A = oumSaum )RS ID Popaicuiates next ons
LA Y cent e or o e

LiE =) araw te sdge
090 i1 Poprimy descvipbion

140 TTNE L Ppint ois desoriotion

TS I

TiB0 midolesi{ntoloal sl 7 owicdoie of segwent

1170 suber=r+lD Toputside oivcie

1160 lel*ouner, y+roO8 (micelie) ¥outar
1120 ASBN

1200 IF wmiddle » =i THEN mOVER —-8¥%wid, ¢ *if on .efi

[p—

ORINT namss (1) 1 TEBEFR

Painting by Numbers 4



42

TESTING

When you run SAT3, keep this book to hand so that voucan look
up the answers. You aren’t sitting an exam - these SATs are
meant only as a help in assessing how well vou have understood
before going on to the next chapter.

Painting by Numbers



Chapter 4

TIME ON YOUR
HANDS

LOOPS WITHIN LOOPS

In Part 1 the keywords FOR, NEXT and STEP were introduced
to show how a row of fence posts could be drawn across the
screen. To save vou looking it up. the routine was:

£50 FOR f=0 TD 620 STEP 20
660 MOVE f,0:DRAW f,&0,15

70 NEXT f

Type it in now if you like and RUN it. [t was explained that the
CP( 464 allocates successive values of ‘17, increased by the value
of the STEP, each time it comes across the NEXT. beginning
with 0 and ending with 620. So the first value of ‘f'is0, the nextis
20, the next 40 and so on. It should be mentioned that the end-of-
range value is not necessarily the last value to be taken: that
depends on the STEP size. For example. if you tvpe in a new hine
6o
£50 FOR fF=0 TO 633 STER 20

The last value of ‘£ will still be 620 because the next value, 640,
falls outside the FOR-NEXT range. The STEP gize can be
virtually any amount including fractions and mnegative
numbers, for example:

FOR f=0 TO 10 STER 0. 19
gives values 0, 0.15, 0.3, 0.45, 0.6, etc., up to 99,10 1s not the last
value.

FOR f=10 TG ~7 STEP -2

gives values 10,8.6,4.2,0.-2,-4 and -6. Again, -7 isnot thelast
value.
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In the last chapter, the program which drew a row of disks
acvoss the screen had two FOR-NEXT loops, one inside the
other. The inner loop {variable 1) drew the disks, while the cuter
loop (variable x) positioned the centre of each disk.

FOR-NEXT loops can be used in three ways:

O As in the example above, if we want particular successive

values of the FOR wvariables that are to be used for

PRINTing, PLOTing, or running through an array.

If we want to repeat a set of commands a particular number

of times.

3O If we want to introduce a delay to slow down the specd at
which things happen.

Ll

The following program illustrates all three principles:
10 #OR 1=t TOQ &
20 FOR n=10 TO 100 BTERP 5§
30 PLOT O, niDRAKWR 100, 100
40 FOR d=1 to SOO:NEXT d
30 NEXT n
60 CL.S

70 NEXT 1

The innermost loop on line 40 is the delay loop which causes the
CP(C464 to count from 1 to 500 to itself before carrying on. Try
changing the value 500 to, say, 30 or 000 to get the idea, then
delete that line completely to see the maximum speed.

Nesting

The next loop is from lines 20 to 50 and uscs the variable 'n’ to
position the graphics cursor, The outerloop, lines 10 to 70, makes
sure the whole process is repeated three times. The loops in the
program are said to be ‘nested’, which means stacked one inside
the other. Any number of loops can be nested so long as vou
remember that they must never overlap. Swop lines 50 and 70
and then RUN.... You will get a message: Unexpected NEXT in
70. The CPC464 found that loops ‘1 and *n” were overlapped and
so failed to execute the program. If you leave the variable name
out after the NEXT command the CPC464 will matcha NEXT to
the last FOR. But that means that if vour program is wrong, it
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will simply vun on a bit further hefore enllapsing, so don’t doit!
Alwavs add the varable name.

Note thal when the CPC464 exits from a loop, the variable used
for the loop will have a value equal 1o the first value that was
OUTSIDE the range and not the last value inside the range.

RUN the program again and when it has finished type in:
PRINT n:l

You will see the numbers 105 and 4 on the sereen: not 100 and 3 as
vou may have expected. The CPC464 will also allow vou tojump
out of a loop beforeitis completed and, of course, any of the range
and step numbers can be replaced by variables:

10 LET a=7:LET bh=73: LET s=1.%
20 FOR n=a TG b STERP s

In IF 50 THEN B0T0 &0

40 PLOT S,n

50 NMEXT n

&0 PRINT n

ONCE IN A WHILE

The FOR-NEXT loop is not the only sort of loop vou can use on
the CPC464. There is also the WHILE-WEND loop. The syntax
of WHILE is as follows:

WHILE {logical expressiom

These loops can be nested just like FOR-NEXT loops and the
same rules apply; every WHILE must have its WENT). The
WHILE-WEND loop is one that depends upon a specified
condition being true or false. All the programthatis between the
WHILE and its matching WEND will be executed so long as the
condition specified in the WHILE is true. For example:

10 WHILE s (1000
20 n=n+l

S0 s=NENENn

40 PRINT 5@

Time On Your Hands
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50 WEND

&0 PRINT

RUN this and you should see on yvour screen ten numbers which
are the cubes of the numbers 1 to 10. The program was prevented
from continuing hevond this by the WHILE. but only after the
condition had been tested, When the CPC464 then came across
the WEND again, 's” was not less than 1000 so it jumped out of
the loop to line 60,

What. vou may be thinking, are the advantages of using a
WHILE-WEND ioop instead of the following?

i IF sy=1000 8070 &0

20 n=Entl

IO mEnEnEN
40 PRINT w1
S0 GOTE 10

£0 REM end of loop

After all, it does the same thing!

The answer is that with WHILE-WEND you do not have to
concern vourself with which line numbers to GOTO, and it is
therefore more convenient, especially if you have a large block of
program in the loop or you are liable to move and change lines
and forget where vou had to jump back to.

You may exit a WHILE-WEND loop before the condition
becomes false if vou wish; the CPC464 won't get confused!

DIGITAL CLOCK

If you now look at the listing of DIGITAI.C you will see that
there are seven FOR-NEXT loops, six of which are nested. There
is also a very simple WHILE-WEND loop at line 170. There are
several aspects of programming in this program that may be
new to vou, but one very important one1s the conditional multi-
statement line as seen in lines 1000 and 1180 of DIGITALC,
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In Chapter 7 of Part 1, you were introduced to the IF-THEN-
ELSE command, Remember this?

IF wmoney>C THEN PRINT “Rich®
ELSE PRINT "Hard up®
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In this command the word ‘Rich’ would be PRINTed if the
variable ‘money’ had a value greater than zero, or ‘Hard up’
would be PRINTed if ‘money’ had a value of zero or less. In
Chapter 6 of Part 1 you were told how to put several commands
on a single line 80 long as they were separated by colons. We did
this earlier in this chapter.

Until now you may well have thought that there is no difference
between putting lots of commands on a single line or on separate
lines. This is correct so long as one of those commands is not an
IF command. Whether or not any commands following an IF
statement on a multistatement line are executed depends on
whether the condition was true or false,

Consider

IF money)O THEN PRINT "Rich" ELSE PRINT
"Hard wup":PRINT"Lend me some money please”

and

IF morneyyO THEN PRINT "Rich" ELSE PRINT

"Hard up”
PRINT "Lend me some money please”

You may think there is no difference between these two
arrangements, but you would be wrong. In the lower example,
‘Lend me some money please’ would be PRINTed whatever the
value of the variable ‘money’. But in the upper example this is
not the case. ‘Lend me some money please’ will only be
PRINTed if ‘money’ is zero or less, just as ‘Hard up’ will be. This
is a very important point to remember and can be put like this:
When the IF condition is true, only the statements after the
THEN and up to the ELSE are executed: when the condition isn't
true. only the statements after the ELSE are executed.

Referring to line 1180 of DIGITALC we can see that 1f the
variable ‘ht’ has a value of I it will be changed to 0. the variable
‘<’ will be set to 1, and a space will be printed at column 7, line 10.
However. if the value of ‘ht’is not 1 then it will be setto 1, ‘x" will
be set to 0 and the subscripted variable nS(ht) will be printed at
column 7, line 10,

Conditional multistatement lines are very useful when used
correctly and save a lot of extra lines in the program.

Another point to make concerning DIGITALC is the use of
subscripted string variables for the printing of the numbers
that make up the clock. Why not use the values of the FOR
variables itself? The answer is that when the CPC4684 prints a
number it always puts a space in front and a space after it. Thus
vou cannot PRINT one number directly after another as the first
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will be partly erased by the second one's leading space. When a
string variable is PRINTed, however, there are no leading or
trailing spaces. It is therefore much easier to set up the string
array and use those characters for the numbers than chopping
the spaces off the actual numbers (which can be done. see
Chapter 7).

Note that the program DIGITALC does not make any checks
on the input you make. It will accept silly times like 10:76 or
35:15. In a later chapter we will explain how to trap errors by
inserting lines that check the inputs. Finally, you may be
wondering why this clock does not make use of the CPC464’s
own built-in clock (which can be accessed by the TIME keyword).
The answer is that the use of TIME calls for some fancy string
handling and chopping which will be explained in Chapter 7.
Suffice it to say that if you type PRINT TIME, the number you
get is the number of 1/300ths of a second that have elapsed since
the computer was switched on or reset (not including cassette
use).

PRINT TIME/300 will give you seconds and PRINT
TIME /300,60 will give you minutes, of course. Using TIME will
make the clock more accurate, but for now find out how accurate
the present version is.

ALARM

ALARM is the next program on Datacassette A. It makes use of
a lot of commands we have looked atin this chapter, and quite a
few others besides. You really can set it to wake you up in the
morning, or you can use it to teach your little sister to tell the
timel
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Although this program contains some rather advanced
programming, vou may like to list it on your screen to see how it
is put together.

TESTING

Yet another chance to check up on your progress through this
course. Don’t worry if vou keep having to go back over things -
that's what learning is all about, so load up SAT4 and away vou
go.
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Chapter 5

ALL WORK AND
NO PLAY

In the early days of computers, they were nearly all bought by
commercial organisations and used almost exclusively for
processing such things as stock levels, invoices and payrolls.
There was one company that tried to make all its personnel
aware of this by putting the following message on the screen
every time someone signed on at the computer:

The company computers are for business purposes only

The idea was to stop people from playing computer games in
company time. It didn’t work!

Since computers have now become available at a price ordinary
people can afford, the problem hardly anses any more. Few
commercial computers have anything like the colour graphics
capability of the CPC464, let alone the sound commands.

The real irony is that a CPC464 which has been bought for
playing and programming computer games can also be used for
running business software. It could well be the only computer
that a small businessman will ever need!

BUSINESS PROGRAMMING

Very few business users of computers know, or indeed want to
know, anything about programming. For them the computer 1s
just another part of their business equipment and not the main
object. Professional decorators don’t need to know the chemical
composition of paints they use to produce a good job, any more
than they have to make their own bruches! For this reason the
design of such programs is considerably different from those
which hobbyists produce for their own pleasure.

The first difference is in the design of the screen instructions to
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the user. For a husiness user thev must be clear and
straightforward, and any INPUT statements should give the
nature and range of the required data.

The other difference is the need for a ‘User Guide for the
program. Even though the screen design will help users
through the data entry stages, users would find it tedious if they
had to sit through a long explanation of what was required each
time the program was run. Many people also prefer to have a
quick skim through the program description before actually
sitting down at the keyboard. In addition, we all find it helpful to
have some form of reference material at our elbow whatever we
are doing.

Most of the rest of this chapteris abouta program called ESTTM:
this will give vou a taste of what business softwareis like. Don't
be put off by the idea. Although Amstrad have never made the
inflated claim that the CPC464 could run a nuclear power
station, there are many ways in which it could help youathome,
or at school, or at work.

SCREEN DESIGN
Getting the facts in

Here is another old friend from Part 1:

INPUT [{quoted string?:]
C¢list offdvariable)]
As vou can see, it is possible to have more than one numeric or
string variable to a single INPUT command. This 1s done by
using a comma as a separator as in the following example:

INPUT "Enter four numbers”j;a,b,c,d

In this form the command puts a question mark at the end of the
prompt string and leaves the cursor one space to the right of it.
When entries are now made on the kevboard, separated by
commas, the CPC464 will attempt to assign them to the
successive variables in the list. If the entries are not of the same
type. e.g. string instead of numeric, or if insutficient entries have
been made, it will give the message

Redo from start
and repeat the prompt.

If you replace the semicolon after the prompt string with a
comma, the question mark ar_nd space will be suppressed,

AllWork and No Play



Getting the facts out

An even older friend is PRINT. Whereas INPUT is the main way
we have for the user to talk to the program, PRINT is the only
method for the program to talk to user. Apart from the cursor
controls of LOCATE and TAG., the use of the PRINT command
is the thing that can make or mar the screen presentation.

The usual syntax is:

PRINT (print item) [ {(separator) (print item
.« 1[separator]

As vou will remember from Part 1, the separator mav be eithera
comma, which will cause the cursor to skip to the beginning of
the next print zone hetore handling the next <Zprint item> (we’ll
come to the ZONE command later on'), or a semi-colon, which
will append < print item>»s, When there is a separator at the end
of the command it also stops the next PRINT command from
being started on a new line,

The <Iprint item™ can be one of three things:

{expression
SAC{integer exaresslon?)
TAE({integer expression))

SPC and TAB may appear at first sight to carry out the same
function, since they are both used to automatically generate
spaces between <print item>s. The difference is that SPC will
insert the number of spaces given by the <integer expression=>
starting from the current position of the text cursor, whereas
TAR counts the number of print positions from the beginning of
the line.

If the number of spaces specified by SPC is greater than the line
width, the CPC464 automatically subtracts the number of print
positions per line (a suitable number of times if the value is
greater than one line width) and then gives the resulting number
of spaces. SPC need not be followed by a semi-colon as a
separator since one is automatically assumed, even when SPCis
the last item in the PRINT list.

When the print position given by a TAB is greater than the
current cursor position, spaces are generated until the required
position is reached. {(Nothing happens if the cursor is already at
the required position.) Should the required position havealready
been passed, a new line is started and spaces generated on it
until the required position is reached. A semi-colon separatoris
assumed automatically in the same way as SPC.
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There are also two string functions which can be used as the

“expressions in a print command: SPACES and STRINGS.

SPACES is nearly, but not quite, the same as SPC since, if the
number specified in its argument is greater than the number of
remaining print positions on the current line, a new line 1s
generated and the spaces continued along it. The maximum
number of spaces is 255.

Strings of spaces are often used for erasing text without using
CL.8. It is easier to type

PRINT SPACE#® (40)
than
PRINT ™

Finally, there is STRINGS that will give you a string full of any
one character:

STRINGS {integer expression?
The <integer expression> is the number of characters you want
in the string. The <expression> is either an integer giving the
ASCII value of the character you want, or youcan putinastring

directly:
PRINT STRINGS (10, 30) gives ZEP222TZIT
PRINT STRINGS (16, "=") gives ~ ======sa=ss======
PRINT STRING (7, "CPCAEAL™) gives CCooeat

Here is the ZONE command as promised:

ZONE { {integer expressiond, i@ isamsions:

Not very complicated really - it resets the width of the print
zones across the screen to the value given by <integer
expression> (the default is 13 - remember?). This is a useful
command which makes tables of numbers easier to handle.

Laving the facts out

The above new facets of the PRINT command are all to do with
positioning words and numbers on the screen. Even so, they still
can't handle all aspects of screen design without a lot of extra
programming. This is why Amstrad BASIC has a very powertul
option knewn as PRINT USING, Here is the syntax:

PRINT USING {(string expression);{print list)

The <print list> is the list of <printitem>> with separators as for
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the ordinary PRINT command, but the <string expression> is
known as the ‘Format template’, and is used, for example, as
follows:

PRINT USING "###. ##"finaltotal

If ‘finaltotal’ was calculated to be 87.4473, the number that
appeared on the screen would be:

B7.45

What happens here is that aslong as the expression to be printed
is of the right sort (numeric in this case}, the CPC464 will print it
with the decimal point in the correct position on the line and
rounded to the number of digits printed.

The ‘" and ‘ # ' are known as ‘format field specifiers’. There are
eleven of these, but by now you are prohably getting impatient to
get back to the keyboard so we'll leave the explanation of these
until later{thereisa listof them on page 53, Chapter 8 of the User
Guide.

ESTIMATING WITH ESTIM

ESTIM is an example of a simple estimating program that
could be used by a professional painter and decorator, or a DIY
enthusiast. It is actually a lot more sophisticated than the usual
method used in the trade, which is to give a fixed price per room
ibased on experience, of course) and hope thatit all balances out.
but is still not overkill for a small business. The principle is that
@l materials and times are related to the average size of the
rooms in a house, and to the number of rooms - even the outside
work,

To use computer jargon, this program is ‘menu driven’; this
means that the user chooses between different procedures by
selecting them from a screen display known as a ‘menu’. The
menu routine can be seen starting at line 640 following the
initialisation, screen and heading routines. This is the main loop
of the program and it directs the user to the routines for five
options. Apart from ‘End program’, these options are either
input procedures which ask the user to enter a series of values, or
output procedures, which give a display of standard data or
results.

Note that the default values used for calculating estimates are
contained in the data list starting at line 3740. These values are
suggestions and not immutable facts. Please check these figures
against current prices and wage rates before committing
vourself to decorating a 57-bedroom palace in Monte Carlo!

Here is the listing for vour perusal.
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1107 EsTIm

ic0 7

130 Y DA 23/3/B4  DGU 2B/11/B4
iae

1SR 7 Initialise
=10 I

70 DLEAR

180 tbh#=4% ° coluwn for input of reolies

30 true=—1ifalse=0

200 beep$=CHR$ (7) tbe$=CHRE () I FE=CHRE(L10) tov$=CRRE (1 3;
210 x$=" "+bhs$+CHRE(Z4Y+" Y 1 x1%=" YCRREEZL)

220 s1%=CR%+1Ff+5PACES (I) & sZs=SPACE$ (1)

250 cparoll=i17 "a roli covers 12 sg m

200 DEF Fhcantre$s(a$)=0PRCES (40-LEN(a%) /2 +a% _
250 DEF Fheveni{x, v)=ROUND( x/v } % y 7rounc x to nearest v
TEO T

270 7 Initialise defauits

=284 7

E3G DIM wmE (7, w7, mub (7)) ok (d), oc(4) asi(E),aler, 16(L1),
111y 7 opptional

I00 RESTORE 3790

Z10 FOR 1=0 FO 7 @ RERD m$ (i), mdlid,mub (i) 3 NEXT

320 FOR i=0 TO 4 @ REARD c#(i), cii) ¥ NEXT

IO FOR i=0 TO & @ RERD a% (i), al(i) & NEXT

340 FOR i=0 TO 1 3 REARD 1%(i),1{4i) = NEXT

350 READ roh%, rph

S&0 7

370 ' Boreen

a0 ?

Z9G MODE & ¢ BORDER O

00 INK O 0 & This 1,22

410 PAPER O @ PEN 1

420 7

470 he="Decorating Estimator”

440 BOSUE 1880 ° heading

asg

agc 7 mMernu

470 7

480 RESTORE 3760

490 FOR 1=1 70 &

500 READ t%

510 LODCATE 28, ixz+E

G20 FRINT 11", ":t%

D0 NEXT

540 LOCRTE 32,20 3 BRINT CHR&(18):

SEO INPUT "Select (153 1 o id 1 i=VAL (1%

SE0 IF id¢l OR 15 THEN PRINT beesp$: @ GOTO 340

S70 ON 1 BOSUR E70, 2360, 26wd, 1670, 6830

80 7
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520 G0TO 4350
£
10 7 End arogram
&Z0 7
£30 L0CATE 1,22 @ END
&40 7
£50 ' SUBROUTINE * Iwput job details
e&0 7
670 h$="Input details”
£80 E0OBUER 1860 7 neading
630 LOCATE 1,5
TO0 ¢
710 7 General
7z0 7
730 hd$='"Name of client":F%=73-tb%iGOSUR Zl40:iclient$=veE
740 hdE="PEdress (N0 cowmas please) ViFU=STI-tbuiGOSUR 21401
arddresa$=vE
750 GOSUR 1410 f total. rooms = rooms
760 PRINT
770
783 ' Capture data
7590
8O0 hde=x$+"INSIDE DECORATION"+x1%:506UR 2240:id. flag=v%
810 IF id.flag=faise GOTD 11850 ' no inside dec
BIZ0
20 7 Ceilings
8an 7
850 hd$=s1$+xe+"Ceilings +x1$:608UR 2240:ce. flag=vh
BEG IF ce.fiag=false GOTC 330
B70 hd$=s2 %+"Ceilings papered+emulsioned” iG0SUR 20401
ce, pe=vh
880 md$=sI%+"Ceilings emulsioned only":GOBUR 2040ice.e=vih
830 re.number=ce. pe+ce. 2
300 e, area. pap=ce. pe*a{o) ce. arga. enti=(ce. pet+ea. 8) *a (0)
910 ce.cost=(ce, area.pap ¥ { w{l)/cp.roll ) ) +
{ee, area, emul ¥ (mi2)/c(2y) )
520 ca.time=(ce,area.nap / 1(0)) + {ce.area.emul / 1(1))
T30
a0 ' Walls
50
960 hdd=sld+xE+"Wallis"+x1$:160SUE 2240:wa. flag=vi
5370 IF wa.flag=Talse BOTO 1040
980 hdd=s2$+"Rooms papered only :GOSUR Z040Iwa. p=vih
390 hd$=s2$+"Rooms emulsioned only":1GOSUE Z040:wa. e=vh
1000 wa.number=wa. ptwa,. e
1010 wa. area. pap=wa. p¥a{l) ! wa.area.gmul=wa.e*all)
1050 wa.cost={wa.area.pap * (m({G)/cp.roll )} 3} =+
{wa.arsa.emutl * (m(2)/c(@)) )
1030 wa. time={wa, area.pap / 1(0)) + {(wa.area.emul / 1013)
1040 7
1030 7 Woodwork
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1060

1070 hd$=sis+x$+"Woodwork"+x1$1600UR 2240%ww, flag=vi
1080 IF ww. flag=false GOTO 1130

1090 hd$=s2%+"Rpooms undercoated+topcoated” :BOSUB 20403
W, UL =vi

1100 Md$=s2%+"Rooms topeoated only” iGOSBUB 20401ww. t=vi
1110 ww. number=ww. ut+ww. t

1120 ww. area. undersww, ut#a(2)  ww. area. top= (ww. ut+uww. t)
*#a ()

1130 ww.cost=(ww. area. under * m{3)/c(0) ) + (Www.area.top ¥
miay/oll) )

1140 ww. time=(WwW. area. under+ww, area. top) /7 1(1)

1150 7

1160 * QOutside decoration

1170

13180 PRINT @ PRINT
1190 hda$s=xs+"OUTSIDE DECURQTIGN"+K1$ GOISURE £240:od. flang%
1200 IF od.flag=false GOTO 1320 ° no outside dec

1210 7

1220 ' Windows and Deors

1230 7

1240 ho$=sl$+x$+"Windows and doors"+x1$:GO8UB 22403

wd. Flag=v% ' '
1250 IF wd. flag=false GOTO 1340

1260 wd.cost=0iwd. time=0

1270 doors, and.wind=total. rooms * a(3)

1280 hd$=523%+"A1ll Varnished only?":BOSUR 224G

1290 IF v% THEN wd.cost=doors.and.wind ¥ m(&)/c(3) 3

wd. time=doors. and.wind / 1(1)1GOTO 1340

1300 hd$=sP$+"R11 Undercoated+topepated?” :GOBUHR 2240
1310 IF v¥% THEN wd.cost=doors.and.wind #{ m{3)/c(Q)

(S /(i) 7iwd. time=doors.and.wind*2 / 1{1):60T0 1340
1320 hd$=s2$+"R11 Toproated only?":BOSUE 2240

1330 IF v% THEN wd.cost=doors.and.wind # m{(5)/cl(l) i
wd. time=goors. and.wind / 1{(1}

1340 °

1350 * Guttering & Downpipes

1360 7

1370 hd$=si$+xs+"Guttering and dnwnplpes“+x1$ :GHCUE 2240¢
qu. flag =v#

1380 IF gd.flag=false GOTC 1450

1390 gd.cost=0:1gd.time=0

1400 gd. length=total. rooms * al4)

1410 hdt=ss$+"A1ll Undercoated+topcoated?® @ BOSUEB ZR4
1420 IF v% THEN gd.cost=gd. length #({ m(3)/c(Q) + w3}/
e(1) )igd. time=gd. length*z / 1(1) :B0T0O 14530 '
1430 ho$=s2$+"Al1l Topeoated oniy?" @ GORBUE Z240

1440 IF v% THEN gd.cost= gd. length * m(5)/cil) igd.time
=gd. length 7/ 1{i}

1450 °

1460 7 Dutside Walls
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1470 7 _
1480 hd#= si$+x$+“ﬂut51de wa115“+xi$ BUSUB. 2240 ow. - Fiag=v¥
1490 IF ow. flag=false THEN 1520

1500 ow.cost = total.rooms * a(g) * ( m(?)/c(a) 3

1310 ow,.time = total.recoms * a{S) / (1)

1820 °

1320 7 Rounding of variables

i540

1950 ce.cost=FNevenice.cast, 0.01)  ce.time=Fheven{cea.tim
0,25

1560 wa. cost=FNeven{wa.cost, 0. 01)
0. 25)

1570 ww.cost=Fieven (ww. cpst, 0. 01) @ ww, time=FNeven {ww, 7 im
Q. 25)

1580 wd.cost=FNeven{wd.cost,0.01) ! wd.time=Fhever{iws, fiy
0.25)

1590 gd.ceost=FNeven{gd.cost, ¢.01) @ gd. bimesFaeven{gd. tix
O, 25

1600 ow.cost=FNeven({ow,cost, 0, 1)
0. “5)

1610

1620 PRINT & PRINT @ GBOSUE 19950 7 spacebar

1630 RETURN

1640 7

1650 ' SUBROUTINE f Prepare for estimate outout

1660

1670 he="Print Estimate” 3 BGOSUB 1BE60 7 heading

168¢ ° send to screen

1690 7

1700 str = O = GOSUEB 3100

17107

i720 * Send to printer

i730 ?

174G REM: =ty = 8 : GOBUR F100 (disabied)

1750 7

1760 RETURN

1770 7

1780 7 SUBROUTINE ¢ Ask the numbey cof rooms

i790 7 veturp answer in ’ rooms’

1800 7

1810 hd$="Total number of rooms"™ @ Fd = Z

1820 GUOSUER 2040 @ rooms=v% i RETURN

1830 °

1840 * SUBROUTINE ! Brint heading

iaso °

1860 CLS

1B70 templsLEN(hS) ttemp2={A0—Tenpl) /2

1880 PRINT TAB (temp2) :CHR$(24) STRING® (templ+2, 131) j0HRS(
1690 PRINT TARB (temp2) :CHR% (24 " "sh$:" " CHR$ (24)

1900 PRINT TRAB(tempz) :CHR$ (24} ;STRING® (tempi+2, 140) 1OERS(
1910 RETURN

wa. time=sFNevern (ua, © iy

ow. ¥ imes=Fuevevi{ow,. T i
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1920

r

1930 * SUBROUTINE * Wait for the spacebar (debounced)
1340 °

1350 L.OCATE 1,29

1960 PRINT FNcentrei("press "+CHRS (24)+" SPACE “"+CHRE (24)
+" to continue'}y

1970 WHILE INKEY$ > "" 1 WEND

1980 WHILE INKEY$O ™ " I WEND

1990 RETUWRN

2000 7 o

2010 ' SUBRDUTINE & Input routive (number)

2020 7 returns nuambher in V¥

2030 7

2040 PRINT hd&:TRBLED®) ;

2050 PRINT"L";

2060 PRINT STRINBS(F%, " "):"1 number";STRINGS (F%+8, bs%) ;
2070 INPUT "V, V%

2080 RETURN

2090 °

2100 ' SUBROUTINE ¢ Input routine (string)

zlto 7 returns string in V$

2120 7 Field length in F%

2130 7 .

2140 PRINT hd$;TAB(tD%) 3

2150 PRINT "L[';

2160 LOCATE th%+F%, VPOS (#0) tPRINT"1Y;

=170 LOCATE tb%+i |, VPOS(HO)

2180 INPUT """ V&
2190 RETURN
2200 7
2210 * SUBROUTINE : Yes/No routine
ZE2R0 7 if yes then vi=true else vi=false
2230 7
2240 PRINT hd$:TAB(tb®);
2250 vi=1
2960 PRINTL 1 Y - yes or N — no"STRING% (35, 8);
2270 gb=INKEY$:IF g%="" GOTO 2270
2280 IF UPPER% (g%)="Y" THEN v%=true 3 PRINT"Y" ; STRINGS

(1 bs®) « :50TD 2320

4290

1F UPPER$ (g$)="N" THEN v¥=false: PRINT'N"; STRINGS

(i, bs%);:G0TO 2320

2300
2310
2T20

IF v%{l AND g#=cr$ THEN PRINT:RETURN
PRINT beep$;
GOQTO 2270

2330 7

2340
2350
2360
2370

' QUBROUTINE : Display defaults
BOSUR 2610
PRINT * pRINT“MQTERIﬁLS”-TQB(&O)-“CDST“ TAR (55 5

TUNIT" & PRINT

2380 FOR i=0 TO 7
2390 PRINT " ":sm$ (i)
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2400 PBRINT TRABE(40) ;USING "##, ##" ;jm(i);

2410 PRINT TAB(SS) rmu$ii)

2420 NEXT

2430 PRINT * PRINTCCOVERING POWER":TAEB(40);"SE METRED/
LITRE": PRINT

2440 FOR i=0 TO 4

2450 PRINT " "3;c#(i);TAB(40) ;USING "#i#. #";0(1)

2460 NEXT

2470 BOSUER 1950 * Next screen

2480 GOBUEB 2610 .

2490 PRINT 1 PRINT"AREAS";TAE(40);"5@ METRES/ROOM" 2 PRINT
2500 FOR i=0 TO S

2610 PRINT " “sas(i);TAE(A0) ;USING "###. 8" ja(i)

2520 NEXT

-5Z0 PRINT @ PRINT "MAN-HOURS™;TAE(40);"SE METRES/HOUR"
PRINT

2540 FOR i=0 7O 1

S5m0 PRINT " ":1$(i) :TAR(40) ;USING "#u##. #" ;1 (i)

2EEQ NEXT

2570 PRINT * PRINT “RATE / HOUR* : TAR (40) 3 " POUNDS/HOURY =

PRINT
2580 DRINT * ":rph$:TAB(40) ;USING "##. #4" yrph

2590 S0SUER 1950 7 space

2600 RETURN

2610 h$="Costings"” & GOSUB 1860 * heading

2620 RETURN

2630 7

2640 * SUBROUTINE ! Amend Material Costs

2650

ZEEO GOSUR 3000

ZE70C PRINT = DRINT“MATERIALS" : TAR(40) 3 "COST" ; TAB(S0) 5
"NEW COSTY:TAR(ES) s"UNIT" * PRINT

2680 FOR i=0 7O 7

2650 PRINT " ":w%(i):TAB(40) jUSING k. BE" smii) g

2700 PRINT TAB(ED) jmud (i)

2710 LOCATE 55, VPOS(#0)~1 ¢ INPUT ", n

2720 IF v 0 THEN mii}=n

ZTI0 NEXT

2740 PRINT @ PRINT"COVERING POWER" : TAB (40) 3 "SR METRER/
LITRE" :TAR(GO) ;"NEW VALUE"S PRINT

2750 FOR i=0 TO 4

2760 PRIMT " ":c$(i);TAB(4A0) jUSING “HEg #H"o(id

2770 PRINT TAB(&O) s PINPUT "",n

2780 IF mYQ THENMN clil)=n

2790 NEXT

Zano GOSUB 1930 ' Next screen

7810 GOSUB JI000 . :
=820 PRINT : PRINT"AREAS";TAB(40) ;"SR METRES/RDOM" ; TRAB (&0
"NEW VALUE® 5 PRINT

2830 FOR i=0 70O 5

2840 PRINT " ":a$(i) ;TAB(40) jUSING “HEHR. H"1a (i)

2850 PRINT TRE{(EOG); * INPUT "",n
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IBEO IF mi0 THEN ali)=n

2870 NEXT T B
2880 DORINT = PRINT "WORK-RATES" :TAB(40) :"88 METRES/HOURY;
TRAR(eD) t "NEW VARLUEY

2830 BRINT

2300 FOR i=0 TO i

2930 ARINT " ":14(1) 3 TAB(4OQ) tUBING "H###. 4" 1 ¢1) s

=220 PRINT TRBLED) » ¢ INPUT "' . n

2925 IF v O THEN. 1{i)=n

2930 NEXT

2960 PRIMT @ PRINT "RATE / HOUR":TAB{4O) 5 "POUNDS/HOUR" ¢
TRELOY D UNEW RATE"

ZOEG BRINT

S50 ARINT 7 "srph%rTAB(40) tUSING “"#&. 88" 1 rph;

2970 BRINT TRE(EG) » ¢ INDUT WY n

£E75 IF O THEN rohsn

P80 GOSUB 1950 7 space

2990 RETURN

3000 n$="Anend Costings™ ! S0SUB 1860 ' heading

J0L0 PRINTH Use ENTER o akip®

J020 RETURN

et T

2040 7 BUBRIUTINE ! Print out sstimate

050 7 : str=giream £to orint to

SOED 7 P ta —~ te = fab sstiings

INTO T

2080 ' Main heading

080 7 :

Ji00 ta=0 1 th=d t to=25 @ td=45 @ te=65 ' column positions

repoart

120 IF (id.flag = false) AND (od.flag = false) THEN PRINT

aby ! RETURN 7 wae figures

120 PRINT #str, FNcentrat{"Estimate of f{ime and materialsg

ar redecorating work ats")

J130 BRINT kst

140 PRINT #str Fhcentres$(adaoress%) ¢ PRINT #str

519G PRINT #str, Ficentre® (“foar *+plient$} & PRINT #etr

180 7

2170 7 Inside work

180 7

Z130 ic.cost=0 @ id. time=so .

SEOL IR dd. Flag=fTalege BOTD 3330 -

SE G0 DRINT #str, TRRBOEY 1Y iInside work 37 @ PRINT #ste

SZz0 PRIMT #str, TRE(tD) 1 "WORK" » TAR (tod t"NO OF RQOMB" ;
Tag{sd) s TMRTERIML. COSTS";

SZE30 BRINY #str, TAB(fe+i) s "TIMEY

FT40 BRINT wabr,lﬁBL*D)"“HH*”*ﬁﬁH(tc}‘" -

"““‘\B‘i’ci).'- mmmmmmmmmmmmmm It w :

EEHR0O ARINT #utr, TﬂB(te+l) e ¥4 BRINT #str

FE60 IF pe.flag THEN n=0 = ni=ce. nunber § cl=ee.cost 1
Ti=ne, Time @ BUBUER 3870 @ id.cost=ig.rcost+ee.cost ¢ id.time

—it {,J [ER L

~d
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=id. tima+tce. time |
3270 IF wa.flag THEN n=i ! ni=wa.number : cl=wa.cost ¥ tl
wa.time : GOSUE 3670 : id.cost=id.cost+wa.cost id. time=
id. tima+wa. time
I2B0 IF ww. flag THEN n=2 i nl=ww.number @ cl=wWw.cost @ t 1
ww. time & GO08UR 3670 : id.cost=id.cost+tww. cost § id.time=
id. fimptww, t1me
3290 PRINT #str

IE00 PRINT #str, TRAB(td) 7' ———mr— e TAB(te-2) " ———m——— "

3310 PRINT #gtr,TﬂE(tc):”Tuta15=";

TIZ0 w=6 ! ni=0 1 pl=id.cgost @ tl=id.time 3 GQSUB I6T70

33:0 DRINT #str, TAR(tg) ; "==ms===y TRAB{ta~2) 1 " ==mms===
340 PRINT #str @ PRINT #Hstr

3350 *

I380 7 Outside

370 7

3380 pd.cost=0 @ od.tima=Q

3I90 IF od.flag=false GOTH 3520 s :

3400 PRINT #str, TRE{(ta) ;"Outside work " i PRINT #str
3410 PRINT #str, TAB(tD) 1 "WORKY; TAB(td) : "MATERIAL CUSTSY;
TAB (te) s "TIME"

Z420 PRINT #str, TAB(th) j¥=———"3 TAB(Ld) 3" : _ -
TAB(te) ;M =——" ' '

T4TZ0 PRINT #str

3440 IF wd. flag THEN n=3 1 ni1=0 : ci=wd.cost * tl=wd.time
GOSUB 3670 1 od.cost=od.cost+wd.cost ! od.time=cd.time+
wd. time .

I450 IF gd.flag THEN n=4 ! nl=0 rl=gd.cost : tl=gd.time
GOSUER IE70 : od.cost=od.cost+gd.cost : od.time=od.timet
go. time

S460 IF ow. flag THEN n=5 : ni=0 : cli=ow.cost I tl=ow.time
GOSUE I670 t od.cost=od,cost+ow.cost ¢ od.time=od.time+
OW. T 1me

3470 PRINT #str, TAE(td) "——vr— s TAB{(te-Z);"——————— "
3480 PRINT #str, TRB(te) ;" Totalsi®;
T490 n=6 : ni=0 ¢ cl=od.cost @ tisod.time : HOSUB ZETQ

500 PRINT #atr, TRB(td) ; "==s===="; TAR (tew2) ; "=ss====="
3510 PRINT #otr @ RBRINT #stre - :

3520

2530 t.cost=id.cost+od.cost ¢ . time=id. timetod. fime
3540 PRINT#str, TRB{(tb) ;"Grand Totals";

ISS0O n=6 : nl=0 § cl=t.cost ¢ tl=t.time :B0SUB 3670

3560 PRINT #str, TRE(tD) ;"Labour Cost":TAB(td) ;USING
HH#EE, #H" st 1 xrphs

3570 PRINT #str

2580 PRINT #STR, TAR(td-2) §t===w==s=="]

3590 PRINT #str, TAB(tb) :"Total Estimated"”;TAB(td); USTNG
ME-1 3.1 AT AL t1me*rpn+t cost

IGO0 PRINT #str @ PRINT #str

Iei0 7 . . e

IR20 GOSUE 1350 @ RETURN
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3630 7

3640 ' SUBRDUTINE : Output line for use with est. printer

650 neads n for ad, nl,cl,tl ¢ if nil=0 then
den’t print

660 7

3670 IF as(n))"" THEN PRINT #str, TAE(tD) ja%(n);

3680 IF wl1)0 THEN PRINT #str, TAR(teo) ;USING "##"ini;

3690 PRINT #str, TAR(td) USING “####.8#" ;01

3700 PRINT #str, TAB(te) jUSING "###, #8471t 1y

3710 PRINT #str," hes.”

720 RETURN

I730 7

2740 * Data list

3750 *

3760 DATA Input Job details,Display costings,fAmend costings

3I770 DATA Print customers estimate,End program

780 ?

3790 DATA wallpaper,3. 00, roll (12xim)

3800 DATA ceiling paper,3.00,roll (1Zxim)

Z810 DATA emulsion, 2.72, litre

J8z0 DATA undercoat, 2,81, litre

3830 DRATA toproat (inside),3.05,litre

2840 DRATA topecoat (outside),3.05,1litve

J850 DATA varnish, 11.20, litre

3860 DATA wall paint, 2.72,1litre

ZB7G

388¢ DATA undercoat, 14.35, topcoat, 15, emulsion, 14

3830 DATA varnish, 2¥,wall paint,k 17

3300 7

3910 DATA reilings,9, inside walls, 34, inside woodwork, S

I920 DATA outside windows and doors, 3, guttering eto, 003

3930 DATA outside walls, 16, "", 0

3340 7

3950 DATA papering, 6, painting, 1.9

IBEC

3970 DRTA Rate per houv,S.350

BYO,
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ESTIM USER’S GUIDE

Well, we did say at the beginning of this chapter that the guide
book was an essential part of a business program, didn’t we?
Without labouring the point too much, the following few
paragraphs are the sort of thing that could help a non-
programmer to use the ESTIM program without getting tied into
knots.

Starting up

When you load and run the ESTIM program a menu is put up on
the screen from which you may select the procedure you require.
You are returned to this screen at the end of procedures 1-4 so
that you may make a new selection.

Note that this program only stores information for the time that
the system is running. Be careful before selecting procedure 5,
‘End program’, that there is nothing you want to record, since
running the program again will reset everyvthing.

Entering the job details

First you enter the customer’s name and address asrequested by
the screen prompts. You are then asked for the number of the
rooms in the house for which an estimate is required. Include the
kitchen, bathroom, toilet and large hallways, but you can
exclude cupboards and pantries.

After answering yes to any of the ‘yes-no’ questions, enter the
number of rooms that require each particular type of work. You
can either enter zero or press the ENTER key if that type of work
doesn’t apply to any room.

Costings

Option 2 displavs the quantities, prices, hours, etc., on which the
estimate will be based.

Amending the costings

This option (No. 3) puts each costing on the screen, one after the

other, so that you can enter a new value. You can skip over the
ones you don’t want to change by pressing the ENTER key.
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These changes are only retained for the time the program is
being run.
Ceaenn #o0 o o gnd el dovne S
Cegorn amnrtiegid o lo ¥rsn [siiaoens aB -
Printing the estimate ' s

Y ou print the estimate on the screen by selecting option 4. Thisis
a summary of the estimated costs, calculated from the
information you entered as job details and the current costings.
Note that only one estimate can be handled at a time, and that
putting in a new set of job details will completely erase the
previous estimate.

It is possible, however, to go back to option 3 (without ending the

program) and change some of the costings - a cheaper grade of

wallpaper, for example - and print a new version of the same
estimate.

T L . : . .

~rtiigadas - i wi e ore o

FURTHER IMPROVEMENTS ' ioelr oo beed

There isn’t a program vet written that can’t be improved or
extended in some way. ESTIM is no exception. In addition,
business programs are constantly being modified and adapted
to the changing needs of their users. No doubt you will want todo
the same thing to this one. :

Here are a few things you may like to consider as further
improvements to ESTIM: :
O Allow for type of house (semi-detached, bungalow, etc.)
Record paper and colour scheme per room

Calculate total paint and paper requirements

Add paint and paper stripping

Add cost of hiring ladders or other equipment

O
0 A,
O il
(| AN
i
You can probably think up another half-dozen for yourself,
although the first priority is to write a new option that will give
you printed output on your Amstrad DMP-1 dot matrix printer.

Some guidance on this is given in Chapter 12.

Ce giatiialee
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Don’t be too ambitious though. Computers have often acquired a
bad name simply because an over-enthusiastic programmer has
made the system so complicated to use that it is much quicker to
work out estimates on the back of an envelope!

TESTING
This really has been all work and no play, hasn’t it? For this

reason we are being kind and not giving you a SAT for this
chapter.
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BACK TO SKOOL
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Those of you lucky enough to have done mathematics to ‘0’
Level or CSE level and beyond will have heard all about things’
like sines, cosines, tangents, radians, logarithms and’
exponentials. The rest of you have that pleasure to come!

This chapter is not intended to be a maths lesson - after all you
can buy some very good maths books - but 1t will be necessary to
indulge a little in order to explain the maths functions the
CPC464 supports. The CPC464 is a clever beast and can do some
pretty fast number-crunching, but a lot of computer programs do
not use actual maths functions at all, just +, -, * and /. However,
you will need to know about things like SIN, LOG and EXP in
order to know when to use them {or when not to).

TRIG 4‘&"““‘“ aa Y \
T *Je‘}_ : ,-:

So here we go then .The keywords SIN, COS, TAN and ATN
all deal with angles and are trigonometric (trig for short)
functions. In any calculations to do with angles, the CPC464
assumes, by default, that your angles are measured in radians
and not degrees. A radianis a special angle and is equal 1057.285
degrees; there are 2%PI of them (6.2838) in a circle. Strangely
enough, working in radians sometimes makes things easier. Itis
most likely that you will want to work in degrees, ¢, however, and
s0 to save you lots of tedious conversion, the CPC464 has the
keyword DEG which we met in Chapter 3. It tells the CPC464 to
work in degrees. There is another keyword, RAD, that tellsit to
work in radians again.

Type in the following program:

tond= o 49l




o

5 DEG | | o O 19l

10 ORIBIN 300,200 - (ET 'gr%ﬁ o ;
' o E o7 4R

20 FOR n=1 TO 360
30 x=BIN (n)

40 y=COS (n)

50 PLOT 100%x, 100%y

60 NEXT n

Let us now use this program to demonstrate a few points.

The ORIGIN command moves the point 0,0 to the centre of the
screen more or less (as was explained in Chapter 3). The variable
‘n’ is going to be incremented by one, starting at1 and finishing
with 360. The sines and cosines of each value of ‘n’ (remember
SINCOS) are multiplied by 100 and PL.OTted in turn.

Now RUN and you will see the circle PLOTted degree by degree.

For those of you who are wondering how our circle program
works, the following diagram will help.
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Solving triangles  ; Tu159:03%g 133 10S=s TH.

SINes, COSines and TANgetits afe’ mobt 38R uved for the
solution of triangles, i.e. given some information about a
triangle you can find out all the rest. These trig functions
represent the ratios between the lengths of the different sides. In
a right-angled triangle {one angle =90°), the sine of either of the
other two angles is found by dividing the length of the side
opposite the angle by the length of the longest side, which 1is
called the hypotenuse.
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In Amstrad BASIC, as in fact in maths books, instead of “The
sine of the angle x*, we write SIN(x), just as we write ‘The square
root of x°, as SQR(x).

Referring to the diagram,

sin(x)=ah _ o
and, similarly, ETOOﬁC’IﬂAUQE
sin(y)=b/h. 1 iy s1sppe 10 moitong? B and L0 ¥ gl

The cosine of the angle is found by dividing the length of the side
adjacent (next to) the angle by the length of the hypotenuse:

cos(x)=b/h and cos(y)=a/h

Notice that sin(x)=cos(y), and vice versa. This is a special
feature of right-angled triangles and makes them easier to solve.

The tangent is found by dividing the opposite side by the
adjacent side:

tan(x)=a/b and tan{y)=b/a

To solve any right-angled triangle we need know only two sides
or one side and one other angle. So, if a=20 and h=50, we can find

sin(x) and cos(y). If you type:
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LET a=20: LET h=S0:PRINT a/h
you get the answer 0.4; 0.4 is both sin{x) and cos(y):
SINGO=COB(y)=0.4 :

Now we know this, we can easily find out how big the angles ‘x’
and ‘y’ are in degrees. On a scientific hand-calculator you would
probably press an INV key and then press SIN or COS to get the
answers. What you are actually doing is using the inverse
functions of SIN and COS. These are called arcsine and
arccosine. There is also arctangent.

Of these arc functions, the CP(C464 has only arctangent:
ATN ({numeric expression}).

So finding the arcsine and arccosiné is a little tricky but not
impossible since the functions are all related. We simply convert
the SINes and COSines into TANgents then use the ATN to find
the angle. To save you wading through pages and pages of
maths notes or slaving over a hot pencil for hours trying to work
it out, here is the solution:

tan(x) = ﬂl——
V' 1 - sin(x)
Vv 1 - cos?(x)
tan{x) - ———

cos{x)

SQUARE ROOTS

The CPC464 has a function for square root. It is SQR and it is
used thus: PRINT SQR(64) gives the answer 8, since 8 squared
(in BASIC the notation for this is 8" 2%) is 64. Type the following:

LET tangent=0,4/8SBR(1-(0.4"2))
PRINT ATN{tangent)

You should get the answer 23.578, which is about 231/, degrees.
Now do the same for the COSine:

PRINT ATN(SEBR({1-(0.4"2))/0.4)

You should get 66.421, or just under 66/, degrees. If we now add
these two answers together we should get 90 because the angles

tmn

*Note: the character ", meaning ‘raise to the power of, appears on the
keyboard and screen of the CPC464 as ‘}.
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. of any triangle always add up to 180°, and 90° of them are used
up by the right-angled corner:

2%, S7B+66. 421+90=180  (close enough!)

So now we know the angles, all thatisleftis the side‘b’. We know
for example that sin(y)=b/h. We can easily change this around to
give b=h*sin(y). We can do the same thing to the other functions
as well to produce a table:

sin(y)=b/h becomes b=h*sin(y)
cos{x)=b/h becomes b=h*cos(x)
tan(x)=a/b becomes b=a/tan(x)
tan(y)=h/a becomes b=a*tan(y)

So we have four ways of finding the length of side ‘b’ and each
should give the same answer. Try it and see! Type the following:

PRINT SO#SIN(RE.421)  (gives 45.825...)
PRINT S50%C0S(23.578) (gives 45.825...)
PRIMT 20/TAN(23.3578) (gives 45.826...)

PRINT ZO*TAN (6. 421) (gives 45.824...)

We do indeed get the same answers, and a good thing too! That
was an example of solving a right-angled triangle. As we said
before, two sides, or one angle (apart from the right-angle) and
one side are enough for us to figure out the rest.

If instead we have any old triangle, then the situation is a hittle
more complicated, but, given enough information we can find
out all we need. However, the calculations are a bit more
complicated. They make use of two rules: '

O The sine rule: for any triangle
a/sin(A) = b/sin(B) = ¢/sin(C)

O The cosine rule: for any triangle
a? = b2 + ¢ - 2bccos(A)
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TAKING OFF

By this stage you may well be thinking “This is all .very well but
how does it apply to me and the real world?’.... OK then.

Suppose you were the pilot of an aircraft wanting to fly due north

to another airport. On a day with no wind you would simply fly
due north to get there. However, on a windy day, which is most
days, if you flew due north vou would, depending on the wind
direction, be likely to miss the airport because the wind would
blow you off course.

Getting your bearings

What you need is some way of calculating the course to steer in
order to compensate for wind drift. The answer? Triangles!

Ever heard of vectors? A vectoris a line that has a direction and
magnitude. The wind can be represented by a vector; it has
direction, e.g. southerly, and magnitude, e.g. force 6. An aircraft
course 1s also a vector; direction, e.g. course 156 degrees, and
magnitude, e.g. speed 315 knots.

What we do is set up a triangle of vectors whose lengths
represent speed, not distance.

Refer to the diagram.... The first vector then is the direction we
want to fly, due north or 0 degrees. We can draw a line straight up
from our starting point A but we don’t know how long the line is
as we don’t know what speed we can achieve. For instance. if we
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are flying at 200 knots straight into the teeth of a 50 knot wind,
we will only manage 150 knots compared to the ground. This
speed across the ground is called, logically enough, the
groundspeed to distinguish it from airspeed, which only
depends on how hard our engine works.

Ground Speed (GS)

A

it ) S T

Air Speed (AS)

Wind Speed (WS)

The second vector is the wind, drawn from point A. When we say
that the wind is coming from the north-west, it is equivalent to
saying that it is going to the south-east. Since we are more
interested in where it is going, that is what we will use.
Assume a wind speed of 20 knots. The third vector to complete the
triangle is going to represent the direction in which we point the
aircraft, but we don’t know that yet. All we do know isits length
(our airspeed), say 200 knots.
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So we have a triangle and we want to find two values: first our
course given by the angle C, and the length of the groundspeed
vector so that we can calculate how long the journey will take.
So, to calculate angle C we can use the sine rule. We can put in
some values:

SIN(C) /20 = SIN(135) /200

from which we can see that: 3
£

SIN(C) = 204SIN(135) /200

Now type DEG followed by: _
LET sinc = 20%5IN(135)/200: PRINT sinc

You should get the answer - 7.07107E-02, whatever that might
mean! Maybe it’s time you learnt how the CPC464 displayslarge
and small numbers.

When numbers get very big or very small they become very
tedious to write out so a shorthand called scientific notation is
used. In this, numbers are represented as being raised to a
certain power of ten. e.g. 1,000,000 (1 million) becomes 1076
{because 10%10*10%10%10%x10 = 1,000,000}, 3000 becomes
3%10"3. A negative power of ten means dividing by ten that
number of times. S0 10"-61s 1/10/10/10-10/10/10 or 0.0600001,
and 0.000002 becomes 2%10°-6. The CPC464 would display
these as 1E6, 3E3 and 2E-06. The E means ‘multiplied by ten
raised to the power of”.

So our number, 7.07E~02 means 7.07%10"°-2 which is 7.07%(.01
or 0.0707; we will still refer to it as ‘sinc’ however. Now we must
convert ‘sinc’ into an angle. Remember the magic formula we
gave you earlier? Type:

LET tanc = sinc/BER(1-sinc™2) iPRINT tanc
The value of ‘tanc’137.08881 E-02 or0.0708881. We can now type:
PRINT ATN(tanc)

and get the answer 4.05480723. Angle C is therefore about 4.05
degrees so our course must be 4.05 degrees west of north, or
355.95 degrees as it i1s conventionally stated (courses are
measured in degrees from north going clockwise).

Flight plan ) e

The wind is blowing against the direction of the aircraft’s
forward movement to some extent, so you can expect to be slowed
down a bit. How much? We must work out how long the
groundspeed vectoris, side GS of our triangle. Again we can use
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the sine rule. : SETUT N

gs/sin(Z) = 200/s1n(135)
80 we can change that to
gs = sin(Z)%200/8in{135) :
t:‘f'rvia L

Hang on though, we don’t know angle ‘Z’! We can easiiy'ﬁnd i
because we know the other two, and all three angles add upto 180
degrees:

Z =180 - (135 + 4.05)
Therefore _
Z = 4095 : :

PRINT SIN(40.95)%x200/SIN(135) gives 185.375162 so our speed
over the ground is a little over 185 knots. The wind slows the
aircraft by nearly 15 knots. {One knot is one nautical mile per
hour, which is just a bit faster than one ordinary, statute, mile
per hour.) We could use the cosine rule to find the groundspeed:

e b m————————

g8 = \ as? + ws? - 2as.ws.cos(Z)

Or in BASIC:
LET GS= SRR (2007242072~ (2#200%20%C05 {40.391))

gives 185358424, which is just about the same as before. One
point about the line above is it looks very complex. It could be
split up into several shorter operations. However, the rule to
remember is that brackets must be nested, like FOR-NEXT
loops. Every opening bracket must have a closing bracket. The
innermost brackets are operated on first and the CPC464 works
its way outwards. Our angle C could be calculated like this:

(ws.sin(Z))
as
J 1 - ws.sin(Z)\ 2
()
Or in BASIC:

LET C = ATN((20%BIN(135)/200) /SAR (1~
(20%SIN(135) /200) ~2)

¢ = arctan

* This line combines all the operations we went through., Testitto
see that it works. You should get the same answer, 4.05480723.

If you now load the program called FLIGHTPL, the next one
on Datacassette A, and run it you will see that all that has been
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discussed so far is incorporated within it. The listing is shown
below.

i00 °

110 * Flight Blan

120 7 4
130 7 by Ian Padwick s
140 * amended by DR 21/9/84

150 °

160 * Screen

170 °

180 MODE 2:BORDER 20
190 INK O,20:INK 1,0 : :
STRING$(15, 32)

200 LOCATE 30, Z:PRINT CHR$(24) 3 c CHR$ (24)
210 LOCATE 30,4:PRINT CHR$(24) ¢ " Flight Plan " j CHR® (24)
220 LOCATE 30, S:PRINT CHR$(24) ;. STRING#(13, 32} + CHR%{(Z4)
230 WINDOW 3,79,8, 24

240 7

250 DEG

260 CL.S IV

270 B

280 7 Random speed and direction

z290 7

I00 wes=ROUND (RND*350)

310 wd=ROUND (RND#355)

320 7

II0 7 Get speed

340 7

IS0 RRINT:PRINT"Wind speed:®iws:"knots"
TE0 PRINTEPRINT"Wind dirvectiont”;wd;"dedrees"

370 PRINT: INPUT"Enter the speed of your aircraftil, as
z80 IF as{(12 THEN PRINT “Too low!" : GOTO 370

390 7

400 7 Do calculations

410 7

420 IF wd)=180 THEN wd=wd-180 ELSE wd=wd+180

430 sinc=ws*3IN{(wd) /as o

440 c=ATN(sinc/SER(1-sinc™2)) ¥

450 IF c{0 THEN co=ABS(c) ELSE co=360-C R

460 co=ROUND(co, 2)

470 IF wd=180 0OR wd=0D THEN gs=as+ws*C0OB (wd) :GOTQ G310
480 IF wd) 180 THEN z=180-( (360-wd) +co)ELBE 2=180~ (wd+c)
490 gs=ABS{SIN(z)*as/EBIN{wd))

500 gs=ROUND (gs, 1)

510 t=100/(gs/60) oy
520 t=ROUND (t, 1) o mme ppey
530 ° o

540 7 Print results SRR s -

550 7 e s e

78 Back to Skool

T



560 PRINT:PRINT"Course to fly is"jco;"degrees” _
570 PRINT:PRINT"Your groundspeed will be'igs: knots”
580 PRINT:PRINT"The flight will take"it;"minutes”
=90 °

€00 * Do it again

610 °’

£70 PRINTIPRINTIPRINT "Press any key.....'
&30 WHILE INKEY$=""I1WEND

€40 GOTO 2e0

L

Once again there are some new keywords. The program
generates a random wind and asks you to input your aircraft’s -
flying speed. It then tells you the course to fly and how long a
100-mile journey will take. Warning...! Do not enter a speed
lower than the wind speed, you may never get there if you're
flying against it! One new keyword is ABS. ABS returns the
ABSolute value of a number which means it makes negative
numbers positive but doesn’t change positive numbers.

The only lines that need some explanation are 470 and 480. Line
470 deals with two special cases. These are when the wind
direction is due north or due south (0 or 180 degrees). We cannot
allow the calculation to continue in these cases since a division
by zero will oceur: sin{0) = sin(180)=0. Instead we add or subtract
the wind speed accordingly. COS(wd) in line 470 can only be 1 or
-1 and provides a rather neat way of doing this.

Line 480 calculates the angle ‘Z’. If ‘wd’ is greater than 180, 1.e.a
reflex angle, then we must subtract that angle from 360 to get the
complementary angle (the one inside).

As far as the eye can see

Let's come on to another problem now. Suppose that having
taken off we want to know how far we can see, i.e. the distance to
the horizon. For example, how high would we have to go to be
able to see our destination 100 miles away? Type the following
program and RUN it. Study the listing in conjunction with the
diagram and figure out how it works.

10 r=3960 *radius of the earth in miles
20 INPUT "Enter altitude in feet:", ft

30 mi=ft /5280

a0 d=(mi+r) “2—p"2
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50 d=SGR (d)

60 d=ROUND (d,2)
70 PRINT:PRINT"Distance to horizon is";d;"miles"
BO PRINT:PRINT:PRINT

9¢ GOTO 20

Sines and cosines turn up in the maths of many games. In
snooker, for instance, they govern the directions in which two
balls go after they strike one another, and the direction of a ball
after bouncing off the cushion. They also turn up whenever
things are wobbling about - the speed of a piston in a car engine,
a swinging pendulum, or a weight on the end of a piece of elastic
can all be described by sines or cosines.

If you want to use a computer to model what happens in reality
(and thatis behind the best games programs), trig functions are
a great ally.

Of course, there are a few other maths functions we could explain
to you like LOG, LOG10, EXP, SGN but these are explained well

in the manual,
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PRIME TIME

And finally, here is a program which does absolutely nothing
useful at all. Reset the CPC464 and enter the following: :

10 MODE O

20 DIM a(2000)

30 a(0)=2: x=0Q

40 FOR n=3 TO 10001 STEP 2

30 p=0 _ _
60 IF a(p)”™2)n THEN x=x+if a(x)=n: PEN 11 BﬁTﬂ 20
70 IF n/a(p)=INT(n/a(p)} THEN PEN 3: GOTO 30

BO p=p+1: GOTO 60

90 PRINT TAB(8);n

100 NEXT n

It prints out what could be an endless stream of odd numbers.
Those that are prime numbers it prints in yellow, the others are
red. A prime number is one that cannot be divided exactly by
anything other than itself and 1. There are quite a lot of them as
you will see, but they get harder to find the bigger they get.

Although the program prints out ali values of ‘n’, only those that
are prime are loaded into the array ‘a’. The program then uses
these numbers to divide into further values of ‘n’. After all, ifa
number is not divisible by a prime number it must be a prime
number itself.

When the program has finished, or before if you get bored, you
can print out the values in the array by typing the Tollowing:

FOR n=0 TO 2000C: PRINT ain)*® NEXT n

It does not need a line number as it is self-contained. How many
prime numbers are there between 1 and 10,000? To what value of
‘n’ would vou have to go before the array was full? If the array
filled the CPC464’s memory, how big a prime number would you
have at the end?
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TESTING

That was pretty tough wasn’t it! Go back over the main points of
this chapter again before running SATS6.
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Chapter 7

PLAYING WITH
WORDS

The CPC464 is not a word processor in itself but it can process
words and has several keywords designed for doing all sorts of
clever things. You need to remember that any variable you use
which began life enclosed in quotes () or anything that you
PRINT that is enclosed in quotes is called a ‘string’.

A string is not necessarily a word. It is any list of characters
enclosed in quotes. When you assign a variable name to a string
it must have a dollar($) suffix to teil the CPC464 thatitisdealing
with a string. Here are some strings; enter them on your CPC464:

LET a%="RAmstrad"
LET c$="CPC 464"

LET r$="45"%) lko+-CF#!3> *

Now type:

PRINT a%,c%, r$
Within a string you can put any of the CPC464’s 256 characters.
We cannot do mathematical operations on strings directly

except to add them together, joining them end to end (a process
called concatenation), or compare them.

Try this:
LET z$=a$+" "+c$: PRINT z%$

You should get ‘Amstrad CPC464’ printed on the screen. The
contents of a$ and ¢§ which have been copied into z$ are now
substrings of z$, i.e. strings within a larger string.



HOW LONG IS A STRING?

So, what can we do with strings? Well, using the keywordsin this
chapter you will be able to chop them up into smaller strings,
swop them, reverse them, search them for pamcular characters
and much more.

The first thing we can do with a string is find its length, i.e. the
number of characters within it. We do this using the command
LEN which has the structure:

LEN {({string expression})

For example, PRINT LEN(a$) will give 7 because there are seven
letters in ‘Amstrad’. PRINT LEN{(c$) also gives 7. PRINT
LEN(z$) gives 15. We might want to know the length of a word
for a variety of reasons, to enable a program to print a string
centrally on the screen for instance, for example:

10 INPUT "Enter your name! " name$

20 IF LEN{name$})40 THEN PRINT "Name too long":G0T0 10
30 1=LEN(names$)

40 PRINT TRB(20-1/2) ;jname$: PRINT

50 6070 10

You will have noticed that when you print a list of numbers that
have varving numbers of digits, the numbers are printed from
the left so that all the first digits are lined up. However, when we
write lists of numbers we usually do it so that all the units, tens,
hundreds, etc., are in line. For example, you get

1

12
97
4032
255

but you want

1
12
97
4032
255

A neat way of doing this would be to find the length of the
number and then calculate a TAB position as before. But if you
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try to PRINT LEN (n), where ‘n’ is our number, you will get the
message:

Type mismatch

This is because numbers are not stored in the same way as
strings and you do not have individual digits occupying one
position as is the case for string information. To get over this we
must convert our number into a string. We can do this using the
keyword STRS$:

STR% ( {(numeric expression?)

We can type n$=STR$(n) and then PRINT LEN(n$) or we can do
it in one go, PRINT LEN(STR$(n)). Remember that when the
CPC464 prints a number it always puts a space in front and
behind. The space in front is actually the sign position, and is
there instead of a + sign. Negative numbers have a - sign of
course. Using STR$ automatically chops off the following space
but still leaves the sign space; thus when you find the LENgth of
a number the answer is always one more than the number of
digits. For example:

PRINT LEN( STR% (464))

gives the answer 4 not 3.

This need not cause any problems so long as you take account of
it. (Later you will find out how to chop off that leading sign
space.)

So now we can write a short program to achieve our aim:
10 INPUT “"Enter a number: ",n
20 1=LEN( STR$(m))
30 PRINT TAB(20-1);:n

40 GOTO 10
NE

STRINGY NUMBERS

All right then, we can turn numbers into strings. How about
strings into numbers? Of course!

The function VAL allows us to find the numeric value of a string.
The structure is:

VAL {({(string expression))

Let's use our variable a$ (‘Amstrad’). What VALue could that
have? Try it by entering:
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PRINT VAL (a%$)

It has no value! This is because the string expression must be
formed from numeric characters or have numeric characters at
the beginning of the string if it is to have a value.

Type
n$="E5536"
then
PRINT n$:PRINT VAL (n$)

You will get 65536 printed at the edge of the screen and
underneath 65536 printed with a space in front. VAL(n$)
becomes a number that can be operated on:

PRINT VAL (n$) /256%4

will give 1024 as the answer.

Try out VAL on these strings: ‘CPC464’, ‘464 CPC’, ‘4 64Am’.
You should get 0, 464, -464.

How could we use this function? Well suppose we had a program
that asked for a number to be entered from the keyboard and
someone putin a letter by mistake (or perhapsdeliberately). The
message:

TRedo Frow stars
would appear and mess up the display:
10 INPUT "Enter a number (1 to 9): ",n

20 IF n{1 OR w3 GOTO 10
30 PRINT n

40 GOTO 10

RUN this and enter a letter. See what happens? Now, if the
INPUT took a string variable instead, the error could be trapped
using VAL, Change the variable ‘n’in lines 10 and 30 to n$ then
type:

20 IF velL(n®) {1 OR VAL (n%$))39 BOTO 10

Entering a letter now will not upset the program.

Suppose that the number range was not 1 to 9 but 0 to 9. Entering
a letter would give VAL(n$) the value 0, which would be valid.
How can we then tell whether O or a letter was entered? Here is
another keyword: ASC. Ttis short for ASCII which isitself short
for American Standard Code for Information Interchange.
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This is one of the few things that most micros have in common,
an ASCII character set. Every character the CPC464 can
generate has an ASCII value. From numbers 32 to 126 the
characters are the same as on other computers that use ASCIL.

ASCII AND ASCII

Using ASC then, returns the ASCII value of the first character
in the string using the syntax:

ASC({string expressiomn )
Type
PRINT ASC("0")
and you get 48, the ASCII value for 0. Type

PRINT ASC("Amst rad")

and vou get 65, the ASCII value for A (upper case, or capital ‘A’;
lower case ‘a” has value 97). So we can change thelinline 20 to0
and add:

25 IF VAL (n$)=0 AND RASC(n%$) (348 6070 10
If you now RUN the program you will find that the numbers0 to
9 are accepted but everything else is not. This is not quite true
though. ... If vou enter ‘7Amstrad’ it will still accept it! How can

we prevent this? Well, we only want a single character entry so
we could put a different line 20:

20 IF LEN(n%))1 THEN BOTO 10

Or, we could use INKEYS$ to get our character instead of INPUT.
You can work out how to do that! '

Two more keywords we have used here are AND and OR. Their
use is really self-explanatory, but there is just one point about
OR. In English we may say ‘if a=10 or b=20 then c=30’ meaning
that ¢=30 when a=10 or b=20 but not when a=10 and b=20. Such a
condition is known as an exclusive or (XOR). XOR allows us to
say: ‘if one or the other but not both then...". The line:

IF n)50 XOR n{73 THEN PRINT n

will print the value of ‘n’ if one and only one of the conditionsis
true.

OR allows us to say: ‘if one or the other or both then...”. The line:
IF n}50 OR wn¢73 THEN PRINT n

will print the value of ‘n’ if one or both conditions are true.
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Finally on this point, suppose we only want numbers 1 to 5 to be
entered (like a menu choice). The next four lines of program all do
the same test in different ways...

20 IF VAL (n$) {1 OR VAL (n$)}3 THEN...incorrect
20 IF VAL{(n%))>0 AND VAL (n%$) (6 THEN... correct
20 IF ASC(n%) {49 OR RASC(n$))53 THEN...incorrect

20 IF ASC(n$) a8 AND ASC(n%) (54 THEN... correct

OPPOSITE NUMBERS

The opposite function of ASC is CHR$ which you have met
before. CHRS$ takes a number after it and returns the character
whose ASCII code is that number:

CHR#® ( {(numeric expression})
The next program prints out the entire character set:

10 FOR n=0 70 2355
20 PRINT CHR$({1) :CHR% (n);

30 NEXT n

Printing CHR$(1) on its own has no effect. It is called a control
character and allows the characters whose codes are0to31 tobe
printed. They are inaccessible otherwise. A table of these control
characters can be found on page 2 of Chapter 9 in the Amstrad
CP(C464 User Guide.

LEFT, RIGHT AND CENTRE

In Chapter 4 of this book is a program called DIGITALC
which prints the tens and units of the hours and minutes
separately, but does it so that they look like two-digit numbers.
Remember that ordinarily one cannot print one number right
next to another because the sign space of the second causes a
space to be put between them. We know we can use STRS to lose
the trailing space, but how do we lose that sign space?

Here are three commands that Amstrad BASIC uses for sorting
out such things: LEFT$, MID$ and RIGHTS$. All three are used
for extracting parts of a string. LEFTS$ does this from the left

Playing with Words



end, RIGHTS$ does this from the right end and MID$ does it
anywhere. The syntax for RIGHTS is the same as for LEFTS:

LEFT#({string expression), {integer expression})

With LEFT$ and RIGHTS the <integer expression>> defines the
number of characters to include, starting from the left or nght
end of the string expression:

MID$ ( (st ring expression}, {int exp} [, {int exp}l)

With MIDS$, the first integer expression defines the first
character of the substring and the second (optional) integer
expression defines the number of characters to include from that
first character. Here are some examples of this method of
definition (z$=“Amstrad CPC464"):

PRINT RIGHTS(z$,3) gives 464

" RIGHT® (z$,6) gives CPC464
" RIGHTS (z%, 14) gives Amstrad CPC464
" LEFT$(2z%,3) gives Ams
" LEFT$(2%,9) gives Amstrad C

"W LEFT®(z$, 18) gives Amsirad CPC464
" MID% (z%, 4) gives trad CPC464
" MID% (2%, 4,4) gives trad
" MID$(z%,9,3) gives CPC

Any part of any string can be extracted using these functions.
Why should we? Well that depends on what you wantto do. Let’s
get rid of that leading sign space. If‘'n’is a single-digit number
you could use either of these:

PRINT RIGBHT$(STR$(n), 1)

or
PRINT MID$(STR$(n),b2)

If ‘n’ is to be a multidigit number, however, you need to employ
LEN as well. Try this program:

10 Ci.5: PAPER 3
20 INPUT "Enter a numbert: " n
30 PRINT n
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40 PRINT RIGHTH(STR$ (n}, LEN({STR$(n)}-1)

50 GOTO 20

The purpose of changing the paper is that you can see the spaces
more easily. In line 40, STR$(n) is the string expression and
LEN(STR$(n)-1 is the integer expression. We subtract 1
because LEN(STR$(n)) will be one more than the number of
digits in ‘n’ - remember?

The following lines of program can replace those of the same
numbers already in DIGITALC. So, load that program, then
type:

180 t=TIME

1070 LOCATE 13, 10:PRINT *O"
1080 WHILE s<{6&0

1090 s=INT((TIME—t)/300)

1100 s+=5TR$(s)

1110 L0BCATE 14+(s}9),10

1120 PRINT RIGHT$(s$,LEN(s$)-1)

1130 WENDis=0:t=TIME

These lines replace the seconds loop and make use of the
CPC464’s own internal clock which is accessible through the
keyword TIME.

You can see thatline 1120 chops off the leading space and that s$
has been previously defined as being equal to STR$(s) in line
1100. The variable ‘s’ represents the difference between the
actual TIME and the value of ‘¢’ which was the TIME when the
clock was started (line 180). The difference increases by 300
every second, hence line 1090.

The WHILE-WEND loop ensures that ‘t’ is updated every 60
seconds to the new value of TIME,

Look at line 1110. An interesting concept is used here. The
condition in the brackets, s>>9 is evaluated as being either true or
false: either ‘s’ is greater than 9 or itis not. If true the value of the
condition is -1, if false the value is 0. The value is then used to
move the cursor to column 14 if ‘s’ is a single-digit number, or
column 13 if it is a two-digit number. All conditions are given
values of 0 or -1, depending on whether they are false or true.
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To prove it type the following: Y
v=17

then: o _
PRINT v)a;v(20;v(2;v>50:v=17;v*2}50;SQR(v)}
43v/2{v/3v+3=20
You should get
-1 -1 00 ~-1 0 -1 01

This logical value could be very useful to you when you get better
at programming, but don’t worry too much about it now.

SEARCHING FOR WORDS

Here is another new function for you: INSTR. This enables you
to search a string for substrings. The number returned is the
position of the first character of the substring within the main
string:
INSTR(L{integer expression},l{string exp}, .
{string exp))

The integer expression is optional and gives the position within
the string to start searching. If omitted it starts at the beginning.
The first string expression is the string in which to search while
the second is the string to search for. So, if z$="“Amstrad CPC
464 then PRINT INSTR{(z$,d”) returns 7 because ‘d’ is the
seventh character of the string.

PRINT INSTR(z%, "CPC")

This returns 9 because the first character of CPC occurs at
character 9 of the searched string.

PRINT INSTR{(z%,6 "4")
This returns 12, the position of the first ‘4’. To get the second one
you type:

PRINT INSTR({13X, z%,"4")

You now get the answer 14 because the search was begun from
the thirteenth character of z$.

This command is very useful in the program HANGMAN which
we saw in Part 1 of this Tutorial Guide. The following program
illustrates the way INSTR was used:

10 CLS
20 LOCATE 1,1z INPUT "Type a word: ", w$
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30 wH=UPPER$ (w$)

40 LOCATE 1,3: PRINT "Guess a letter: ™
50 1$=INKEY#%

60 IF is="" GOTO S50

70 1$=UPPER%(1%) -

80 LOCATE 1,3: PRINT SPACE$(16)

Q0 p=1

100 p=INSTR(p,w$, 1%)

110 IF p=0 GOTO 40

120 LOCATE 10+p, 102 PRINT MID$(w$,p, 1}

130 p=p+1: GOTO 100

Note that this program will not stop avén when you have got all
the letters. You can work out how to get it to stop. There is

- another new keyword here - UPPER$ - which converts all lower
case alpha charactrs (a-z) within the following string
expression to upper case (capitals).

Back to front

The final program below demonstrates some more string
chopping. This time, whatever you type in is printed in reverse.
You should be able to work out how it is done.

10 PRINT "Type a string: "
20 INPUT we
30 FOR n=LEN(w%) TO 1 STEP -1
40 bS$=b$+MID% (w$, n, 1}
90 NEXT
60 PRINT " “:b%: PRINT: B$*““
70 GOTO 10
Try entering ‘evil rats on no star live’.
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PLAYTIME
Our game this time is very appropriate. It is an aid to those
newspaper word games where you have to make up lots of

different words from the letters of one long word. So load up
WORDPUZL and enjoy yourself for a while.

TESTING

Now run SAT7. You never know, but you might be able to write
a program for solving The Times crossword puzzle.
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Chapter 8

MOVING PICTURES

The principle of making ‘moving pictures’ has been around fora
long time. One displays a ‘still’ picture, then quickly replaces it
with another that has some slight differences, then replacesthat
with another and so on. If this is done rapidly and evenly the
differences between each of the ‘frames’ appears continuous and
animation is achieved.

FLASHY PROGRAMMING

One of the simplest ways of adding action to a screen message or
graphic display is to use an INK command which specifies two
colours. The syntax is as follows:

INK {ink number}, {(colour} L[, {colour}l

When this second <colour>> is included, the CPC464 will then
alternate the INK between the two colours.

Try entering this directly after a general reset or power on:
INK 1,241

It gives you a flashing display, doesn’t it? This is because the
second colour is the same as that used in the default INK
specified for the PAPER. It isn’t that the display is ‘turned off’
for half the time - it’s just that you are writing with a blue PEN
on blue PAPER! Any two colours can be specified so if you try
entering different pairs of your own choice it will be obvious
what is happening.

The speed at which the two colours alternate can be changed by
a new keyword: SPEED INK. Here is the syntax:

SPEED INK (integer expression}, {integer
expression?




amn

96

The first argument specifies the length of time that the first
colour of the INK should appear on the screen, and the second
argument that of the second colour. These <integer
expressions>> are in steps of 0.02 second.

Here is a short program that illustrates the use of flashing INKs:
INKs:

10 rem Flashy Message program
20 cls

30 wmode O

40 ink 1,24,1

50 for a=50 to 1 step -1

60 locate 3,12

70 speed ink a,a

80 print "FLASHY MESSAGE"

90 for x=1 to 200:next

100 next a

110 goto 10

Flashing text or graphics are immensely useful when you want
to draw attention to a particular part of the screen display.

In MODE 0, INKs 14 and 15 flash by default; 14 alternates
between blue and bright yellow and 15 alternates between sky
blue and pink.

ANIMATION

When you are writing games programs, the really essential
ingredient is movement. Flashing graphics and text may also be
used but the whole essence of most arcade-type programs is the
battle between graphically displayed elements that the player
ean control and those that he can’t. So we need to know how to
get our graphics to move around on the screen.

To animate a picture, one need not replace the entire picture
every time. Only the parts that are moving need to be changed
between frames. Computer animation works in this way. The
entire picture is not redrawn every time part of it changes, rather
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only the moving part is changed. Movement is achieved by
erasing the old position of whatever is moving and then
redrawing it in a new position.

Another way of achieving the impression of movement is to
draw the moving character in all its positions butdoitin such a
way that it cannot be seen. e.g. make it the same colour as the
background. Then, when the movement is required, each
position can be ‘switched on' and then ‘off’ in turn, not by
redrawing it, but by changing the colour of the ink used to draw
it in the first place. This can be demonstrated if you now type in
the program that appears on page 32 of Chapter 3.

Make sure that it works in MODE 0 then type in the following
extra lines (easier in MODE 1 or 2%

110 FOR n=2 TO 15
120 INK n, 1

130 NEXT n

140 FOR n=1 TO 15

150 INK n, 264

160 INK m=1,1

170 FOR x=1 TD 80: NEXT x
180 NEXT n

190 INK 15,1

200 GOTO 140

Make sure you are in MODE 0 when you RUN the program. You
should see the disks drawn as usual, then all but the first will
disappear and then the first will appear to move across the
screen rapidly over and over.

When vou get fed up and press ESC twice you will more than
likely have blue text on blue paper. Carefully type INK 1,24 and
the text should appear. Now study the listing. You should be able
to understand how it works butif youdon’t, just change a value
here and there and see what happens! Doing this should make
things clear.

Because of the way the CPC464 organises its colours, you cando
this with any PRINTed and PLOTed character or picture.
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Twinkletoes

The only problem with the colour switching methed of
animation is that you are limited to some extent by the number of
INKs available. Also you must be careful not to draw over an
unseen character that vou will want to use later. For these
reasons PRINTing characters and erasing them again is the
preferred method of getting things to move.

Let's start with the simplest sort of movement, a little man
dancing across the screen. :

The CPC464 is supplied with four characters which can be used
directly for this purpose. They are given by ASCII codes 248-251,
inclusive, as shown in the Amstrad CPC464 User Guide,
Appendix 111, pages 12 and 13. Here is an extremely simple
example of how they can be used:

10 rem Dancer program

20 clsimode O

30 data 248, 250, 249,251

40 foar a=1 to 4iread dance(a)inext

S0 b=1

60 for c=1 to 4

70 locate b,12

80 print chr${dance(c));

90 far x=1 to DOO:inext

100 locate b, 12:print " "j

110 b=b+1i

120 next c

130 if b{(20 then Qﬁtn &0

140 goto 50
The first thing we do is to load an array, ‘dance(a)’, with the
ASCII value of the characters. This is done in the order in which

they are to be used. Then, within the loop of ‘b’ going from 1 to 20,
we have a nested FOR-NEXT loop which provides the next value
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of the array. This is printed at the next ‘x’ co-ordinate of the
screen by using the current value of ‘b’ in the LOCATE
command.

After printing the characters given by the current value
provided by the array, there is a delay loop of x=1 t0500. A blank
is then printed in the same position to wipe the character out
before moving on to the next one.

When you have entered and run the program, remove line 100
and run it again. This will show you why we had to include it in
the first place. You could also experiment with the duration of
the delay loop in line 90.

Where did they all come from?

Part 1 of this course had a zapping game called BOMBER which
was designed to teach you the basics of co-ordinate geometry by
getting you to estimate the position of an alien invader. If you
remember, the little creature kept appearing at different places
on the screen by means of the RND command. This command is
essential for providing an element of unpredictability in the
movements of characters and graphics.

The following few lines will make the biggest space fleet you
have ever seen appear on your screen.

10 rem Space Invasion
20 clsimode ©
30 locate 19%rnd+i, 24%rnd+i

40 print chr$(239):

g

for delay=1 to 999%vrnd
60 next

70 goto 30

The interesting thing here is that the spaceships also appear at
random intervals thanks to the inclusion of RND in the delay
loop of line 50.

Note that you have to add ‘1’ to both arguments of the LOCATE
command. Otherwise, the product of 19%rnd or 24 *rnd could be
less than 1 and the CPC464 would stop the program, giving an
‘Improper Argument’ error message, since LOCATE can only
accept arguments greater or equal to 1.
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One over the eight

Suppose our little dancer had been a bit over-indulgent, but is
still trying to keep a straight line across the screen. We can
simulate this by adding to the program:

65 d=int (3¥rnd+3)

As you will remember, the INT keyword ensures that the result
of the numeric expression in its argument is a whole number by
truncating any decimal part. The manipulations of RND by
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multiplying by 3 and adding 5 are only there to get the resulting
expression within the desired range.

This new variable, ‘d’, can now be added to the program to give
the second argument for the two ILOCATE commands as
follows:

10 rem Drunkard program
20 els:imode O

T0 data 248,250,249,251
40 for a=1 to 4fread dance{(a)inext
50 b=1

EQ for o=1 to &4

65 d=int (3% rnd+3)

70 locate b,d

80 print chrs(danee(cis;\
30 for x=1 to SOO:néxt
100 locate b,d:print " ";
110 b=b+1

120 next c©

130 if b{(20 then goto &0

140 goeto 50

If you run this modified program you will find that our danceris
now a little unsteady on its feet!

ANOTHER BRICK IN THE WALL

One of the original computer arcade games was called
‘Brickout’. The plaver had to move a ‘bat’ back and forth across
the bottom of the screen to deflect a ‘bouncing ball’ upwards
against a ‘wall’ to knock out the ‘bricks’. We will now develop
this program to some extent to demonstrate some principles of
programming an arcade game and introduce some new
keywords as we do so.
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Make sure you have reset your CPC464 and have some blank
tape to save the program on.

The first thing to dois draw the boundary to our screen. We could
just use the border, but for reasons that will become clear later
and for effect, we won’t. The line numbers are deliberate, sodon’t
change them yet:

10 MODE 1:CLS:BOTO 200

200 LOCATE 1,1: PRINT CHR$(136);
210 FOR c=2 TO 39

220 LOCATE c,1: PRINT CHR$(140);
230 NEXT

240 LOCATE 40,1: PRINT cHR$?132>;
250 FOR 1=2 TO 24

260 LOCATE 1,1t PRINT CHR$(138);
270 LOCATE 40,1: PRINT CHR$(133):
280 NEXT

300 LOCATE 1,25: PRINT CHR$(130);
310 FOR c=2 TO 39

320 LOCATE o,25: PRINT CHR$(131):
330 NEXT

340 LOCATE 40,25: PRINT CHRs(1295;

350 LOCATE 1,1

Line 350 has been put there as a temporary measure to stop the
screen scrolling.

You should have no problems with this. At the moment the
Ready message gets in the way but it won't later on. What we
want now is a bouncing ball.. .:

20 x=1t y=-1

30 c=INT{(RND*37+2)
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40 1=INT (RND*22+2)

50 IF c+x)33 OR c+x{2 THEN x=—x
BO IF 1+y}24 OR l+y(2 THEN y=-y
80 LOCATE c,1: PRINT © “:

90 c=c+x:l=l+y

100 LOCATE c, 1% PRINT CHR$(224):
110 GOTO 50

390 GOTD 20

When you RUN the program, you should get a ‘ball’ bouncing
around inside the boundary. Quite fast isn’t it? If you want to
slow it down a bit you can insert a temporary line:

105 FOR d=1 TO 50: NEXT

Lines 20 to40 set up initial values for variables ‘x’ and ‘y’ (used to
move the ball) and ‘¢’ and ‘I’ (the ball’s position). Lines 50 and 60
find out whether or not the next position of the ball will be
outside the boundary. (We are using columns 2 to 39 and lines 2
to 24.) If it will be, then the relevant increment, ‘x’ or ‘y’, is
inverted.

Line 80 erases the old position of the ball by PRINTing a space
over it. line 90 calculates its new position and line 100 PRINTs
the new ball. Line 110 completes the loop. Quite simple isn’t it?

If vou are able you should now SAVE this program because we
are going to change it now, but change it back again later....

Smoothing the way

Each new position of the ball is necessarily a whole character
square from the old position. While the speed of the ball helpsthe
movement to appear smooth, it is not as smooth as one might
like. To get smoother movement we would need to PRINT the
ball at half-character intervals or less. This can be done using
TAG.

Remember that TAG allows you to PRINT at the graphics cursor
instead of the text cursor. The graphics cursor can be moved to
any of 640 positions horizontally and 400 positions vertically. (It
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can be moved further but it will be off the screen!) Remember also
that in MODE 1 each pixel can be referred to by four sets of co-
ordinates (two vertically and two horizontally, see Chapter 3.
This means that to move a character the equivalent of one
character square we must move the graphics cursor 16 positions
one way or the other.

Let’s change the program now. The first thing to do is switch on
TAG, so insert this line:

45 TAG

The range of numbers you can PRINT is now much greater so
vou must change lines 50 and 60 appropriately.

50 IF c+x>609 OR c+x {16 THEN a=-x
60 IF 1l+y:383 OR 1+y {30 THEN y=-y

Lines 30 and 40 must also be changed to give a valid initial
position for the ball:

30 c=INT (RND*#392+16)

40 1=INT (RND*Z37+42)

When TAG is in force LOCATE has no effect so we must change
LOCATE to MOVE:

80 MOVE c,1: PRINT " ":

100 MOVE c,1: PRINT CHR$(224):

If yvou did put line 105 in, now is the time to take it out.

The first thing that strikes you is how slow it is. This is because
the program references every pixel position twice, The speed can
be doubled with no change to the smoothness by doubling the
increments ‘x’ and ‘y’:

20 y=2: y=-2

RUN the program again to see the improvement. If you are not
sure what a particular line or variable does, change it and try to
understand the effect this has.

Bat'n’ball

When you have finished experimenting with version two of
the ball program, if you SAVEd the original, load it. If you
didn’t, change the program back to what it was. Now is the time

Moving Pictures



to include a ‘bat’ (not the flying kind) routine in our program.
The bat will move back and forth across the screen where the
lower edge of the boundary is at present.

First, then, delete the lines that draw the lower edge of the
boundary, 300-340. (The ball will still bounce off, of course.) Now
what we want is a bat. We will use three CHR$(131)s for this
purpose. The PRINTing of the bat must occur within the main
loop of the ball program so we will do this after the ball has been
PRINTed in line 100. Only the horizontal position of the bat will
change, so only one variable is needed.

To PRINT three CHR$(131)s you could type:
PRINT CHR%(131) ;CHR$ (131) ;CHR%(131)
But remember the STRINGS$ function from Chapter 7:
STRINGS (%, 131)
Now insert lines:
4 bate=" "+STRINGS(Z, 131)+" "

109 LOCATE b, 25: PRINT bats$;

The spaces before and after the bat are to erase the ‘old’ bat as it
moves. We now need to change the value of variable ‘b’ in the
range 1 (left) to 36 (right). It has to be 36 because the bat,
including spaces, is 5 characters long and column 36 is as far
right as it will go without going off the edge.

We can test whether or not a key is being pressed by using the
keyword INKEY$. Let’s choose a key for left, say Q, and one for
right, say P. You will have to make sure that CAPS LOCK is off
to get ‘g’ and ‘p’ and not ‘Q” and ‘P’. You can type the following:

101 ky$=INKEYS%
102 IF ky$="qg" THEN b=b-1
103 IF ky$s="p" THEN b=b+l

Clearly, ‘b’ could increase or decrease too much and cause the
program to crash, so you should add:

104 IF b)36 THEN b=36

105 IF h{1 THEN b=1

And give ‘b’ an initial value at line 20:

20 x=1: y=-1: b=18
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If you now RUN the program you will find that the ball bounces
as usual and you can move the bat by pressing key Q or key P
(but not both). The bat does not respond particularly well to the
INKEY$ command so there is another way.

The keyword INKEY is very similar to INKEY$ but reads the
keyboard differently and doesn’t wait for the keyboard to repeat.
The syntax is

INKEY ({integer variable})

where the variable is a key number as on page 16 of Appendix3
in the User Guide. You will see that the Q key isnumber 67 and
the P key is number 27.

Type in these changed lines:
101 (this deletes it!)

102 IF INKEY(67)=0 THEN h=b-1
103 IF INKEY{(27)=0 THEN b=b+1

You will now find that the bat responds better than before. The
following line can replace lines 102, 103, 104 and 105 and is a
much neater way of doing the same thing:

102 b=b+ (INKEY (67)=0 AND b)1)-(INKEY(Z27)=0
AND b<{3&)

It works by making use of the logical value of the condition
within the brackets. The value is 0 if the condition is false and -1
if it is true (see Chapter 7).

Now the bat moves more quickly we can insert a line or two to
detect when the ball hits it. The ball will be touching the bat
when the next line value of the ball is 25 AND when the next
column value is equal to b+l, b+2 or b+3. (The bat is three
characters long.)

You could type the line:

IF 1+y=25 AND (c=b+i OR c=b+Z OR c=b+3)
THEN.... a hit

Instead type these lines:
60 IF 1+y(2 THEN y=-y

65 IF l+vyy24 THEN y=-y:IF c)b AND c(b+4 THEN
s=s+] ELSE s=5—-0

The variable ‘s’ is to be used to keep the score. If you hit the ball
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then your score is increased. Every time you miss, your score
drops by 5 points!

Insert this line to display the score: o
106 LOCATE 16,1: PRINT "SCORE ="3;a;

The program is getting quite complex now, and the ball is
slowing down a bit. That's why using TAG is impractical where
speed is required.

Collisions, collisions

So far, we have used our knowledge of where the boundaries and
bat are to detect when the ball hits them. In fact, the boundary
and bat need not be there at all and the ball would still bounce
off, because the conditions dictate the collision, not what is
actually there on the screen. What if some random character
were introduced into the arena? How could we detect a collision
without knowing where it was before hand?

Clearly we must know what we are looking for, or at least know
something about it; its shape or colour for example. The CPC464
does not have any keyword facility for testing the conditions
within a particular whole character square, i.e. testing for the
character or colour. Instead there is a keyword for testing the
colour of a specific co-ordinate. This is, appropriately, TEST,
which has the structure:

TEST ({integer expression}, (integer
expression))

where the first <integer expression>> is the ‘x’ co-ordinate and
the second <integer expression>> is the ‘y’ co-ordinate, PRINT
TEST (100,100) will return a number whose value is that of the
INK colour at 100,100,

So, if you did PLOT 150,300,3 and then PRINT TEST (150,300)
you would get the answer 3. In order to detect the presence of a
character within a character square one would first have to
convert the column and line values into ‘x” and *y’ co-ordinate
values, and then do the test. Doing the conversion takes a little
thinking about. especially in the vertical direction, since lines
are numbered top to bottom and 'y co-ordinates numbered
bottom to top. The more mathematical minded you are the easier
it will be for you.

One way out of the dilemma 1s to use a two-dimensional array
that is dimensioned to the column and line values. For example
you could type DIM a(40,25). Each subscripted variable would
then be a ‘shadow’ of the screen. If, for instance, you did:
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LOCATE 15,7t PRINT"#“: LOCATE 34,13:
PRINT *gQ"

then you would also fill the array thus: -
a(lS, 7)=1: a(34, 13)=2
where the numbers 1| and 2 signify a particular character.
You could use the ASCII value if you wished:
3(15,7)=QSC(”*“)=a(3&,13)=RSC(“0")

To detect a colligion on screen you would constantly check the
contents of the array. We will now add and change some more
lines as follows:

5 DIM a(40, 25)

40 1=INT (RND*10+13)

107 IF afle,l)=1 THEN alg, 1)=0ta=g+]l ix=—xiy="Y

300 PEN 3 _ _

310 FDR 1=8 TO 12

320 FOR ec=2 TO 39

330 LOCATE o,1: PRINT CHR# (143);

340 alg, 1)=1

IS0 NEXT o

SE0 NEXT 1

370 PEN 1

380 BOTO 20
Lines 300 to 360 set up the wall and the ‘shadow’ array which is
dimensioned in line 5. Line 40 ensures the ball always starts

below the wall. If a collision does occur, the ball’s direction is
reversed and your score is increased by 1.
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DIY

The game, asitis, can hardly be said to be ‘exciting’ but then the

intention was not to write an exciting game. The intention was

to show how a simple game can be developed and expanded upon.

Alsoitis hoped you have a greater understanding of some of the

processes and problems involved in writing a program. Now it’s

up to you to have a go. Here are some suggestions for

improvements:

O Make the ball disappear when it misses the bat and replaceit
with a new one.

O Change the direction variables to allow the ball to move at
angles other than 45 degrees.

O Getthe ball to bounce off the corner of the batin the manner
you would expect it to.

{3 Make the ball bounce off the wall according to the angle at
which it strikes,

0 Add some beeps and burps.

O Add some more obstructions in the field of play.

PLAYTIME

The next program on Datacassette A is BLITZ. Here is a game
which will let you release all those pent-up destructive impulses.
Your aircraft is steadily losing height over the city, and is likely
to crash into one of the buildings. Your only way of getting down
safely is to bomb the whole lot flat!

Happy landings.
TESTING

You have probably tired yourself out with all that bombing so it
might be a good idea to have a short rest before running SATS.
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Chapter 9 |

SOUND FX

When we explored the sound commands in Part 1 of this course,
it was necessary to restrict the information to simple forms only.
As vou will have gained a lot more knowledge and confidence by
now. we can go into things in much more detail and study alot of
aspects that were previously left out. Using our new notation,
the SOUND command is described by:

SOUND {(charnnel status), (tone period)
[,{(duratiom [, {(volume} [, {(volume envelope)
[, {tone envelope}l, {(noise)l1ll]

All the arguments are integer expressions. Don’t be confused by
the number of brackets. What they meanis that youcan leave off
arguments, starting at the right-hand end, but you can’t leave
any out in the middle.

CHANNELS

The <channel status> argument is the most complicated part of
the SOUND command. In the User Guide you will see thatit can
be an integer between 1 and 255! Don’t be frightened though, for
the moment we will just look at how the CPC464’s three channels
are selected.

These channels are called A, B and C, and can be entirely
independent of one another, with their own tone and volume
envelopes. However, more than one channel canbe specifiedina
SOUND command, as shown in the following table:
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Channel
status Channelfs)

A only

B only

A and B

C only
AandC

B and C
A, Band C

This might seem a little odd but it works!

You can also plug your Amstrad Hi-Fi Tower System into the
back of your CPC464 to get stereo sound. Channel A is left,
channel C is right, and channel B gives you a bit of both left and
right.

=13 Ot QO DD =

ENVELOPES

Volume envelopes change the level of sound specified by
<volume>>in the SOUND command, and tone envelopes change
the note or pitch specified by <period>>. These changes can be
dynamic during the time the sound lasts, as specified by
<duration>>. You already know that you can have up to 15
volume envelopes and 15 tone envelopes in one program. What
you may not know is that each envelope can have up to five
sections! Read on!

Volume envelopes

A five-section envelope is a pretty daunting prospect at first
sight, so we’ll have a look at some three-section ones to start
with. Load the program, ZOUNDS, from Datacassette A, and
RUN it. Ignoring the tone envelope for the moment, you can see
that you are given a choice of three things called ‘attack’,
‘gustain’ and ‘decay’. The diagram shows what these words
mean.

It’s a bit like a story which has a beginning, a middle and an end.
Unlike a story, however, it is often the beginning and the end
which are the most interesting. If you keep using the ZOUNDS
program you can compare the differences in the sounds
produced by different types of attack, sustain and decay.

A typical sound with a fast attack is that of percussive musical
instruments such as a guitar. Other examples of sounds with a
fast attack are thunderclaps, drum beats and explosions. A slow
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attack ~ sustain decay

volume

time

attack, however, is more characteristic of a large organ pipe,ora
brass instrument, such as a tuba. Conversely, once you stop
blowing a tuba the sound stops immediately (fast decay),
whereas the sound from a guitar dies away gradually (slow
decay).

So you can see how a multisection volume envelope enablesusto
mimic the natural sounds we hear around us. Now we can havea
look at the ENV statement again:

ENV {(envelope number)[, {envelope sections)]
As vou already know, each <envelope section>> comprises
{(step count), {(step size), {(pause time)

and as you have recently found out, you can have from one tofive
of them.

Here is an example:

time
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The coding for this is:
ENV 1, 35,2, 1,-4,1, &4,-2,5, 1,0,5, 3,-1,10

If this envelope is used with a SOUND command whose initial
volume is zero, the effect on the volume will be as follows:

Section

number Effect

1 Medium attack to maximum volume
2 Fast decay to level 11

3 Medium decay to level 3

4 Short sustain

5 Slow decay to level 0

You can see that the sustain is produced by specifying a single
step of zero change in volume - the <period>>giving the length of
the sustain.

Now is the time for you to experiment with volume envelopes of
your own. If your SOUND command is given a <duration>> of
zero, it means that the duration of the sound is controlled
entirely by the ENV statement. You can see this from the
following listing of ZOUNDS. Try adding your own envelopes
for ENV 13, ENV 14 and ENV 15.

100
110

130
i40 ’
150 CLEAR

Zounds ¢ Envelope demonstrations

120 ' by George Tappenden
T amended by DA 25/9/84

160 DEF FNt (x$)=INSTR("FSLMH", x$)~1

170 FOR 1=0Q

180 RERD e%$,

130

TO 43READ n${i) INEXT
a%, 5%, d%, ¢t

Z00 7 Screen

216 7
20 MODE 2

BORDER 26

230 OINK ©,26 ¢+ INK 1,0

240 PAPER O
250

PEN 1

7260 * Descriptive Layout

270

280 PRINT STRINGS (13, "#"):" VOLUME ENVELOPES "iSTRINGS

(13‘ Mgy .

290 PRINT SPACES (8 1STRINGS (4, "*") ;" TONE ENVELDPES *;
STRINGS (4,7 %)

300 PRINT =

PRINT

310 PRINT e%, a%, s%,0%,e%, t$

114
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J20
330
340
350
380
S70
380
IS0
400
410
4z
430
440
450
460
470
480
450
SO0
Sio

20
530
5S40
S90
360
=70
580
330
£00
£05
610
620
630
&50
660
670
680
630
700
710
720
730
740
790
760
770
780
7530
800
Bi0
820

PRINT

FOR i=1 TO 12

READ a$, b%, c%

a=FNt (a%) tb=FNt (b$)

to=FNt (C$)

PRINT i,n$ta),n%(b),n%(c)
NEXT

FOR i=1 TO 4

READ tn%

LOCATE 53, 4+1%2 t PRINT i
LOCATE &6, 4+i*2 @ PRINT tn$
NEXT

' Volume Envelopes

ENV 1,1,15,1,1,0,40,1,-15,1
EnNV 2,3%,15,1,1,0,40,15, -1, 4
ENY 3,1,15,4,1,0,5,15,-1,4
ENV 4,1,15,1,1,0,5,1,-15,1
ENV 5,5,3,1,1,0,40,1,-15,1
ENV §,5,3,1,1,0,40,15,-1.,4
ENY 7,5,3,1,1,0,58,1,-13,1
EnNV 8,5,3,1,1,0,5,15,~1,4
ENV 9,15,1,2,1,0,40,1, -13,1
ENV 10,15,1,2,1,0,40,15,-1,4
ENV 11,15,1,2,1,0,5,1,-15,1
ENV 12,15,1,2,1,0,9,19,-1,4
’ Tone Envelopes

ENT -1,1,0,1

ENT =-2,2,1,2,2,-1,2

ENT 3,100,1,2

ENT 4,100,—-1,2

' User choice

WHILE ( m)=0 ) AND { t3>=0 )
t OCATE 10,22 ¢ PRINT " ©
LOCATE 10,23 & PRINT " ¢

{BCATE 1,20

PRINT

INPUT "volume "3in
INPUT "tone A 1
' Play it

1

FOR times=1 TO 3
LOCATE B, (n+52 :
LOCATE 58, (Z¥t+4):
SOUND 7, 200,0,0.n,t

PRINT "Type in the envelope number”

PRINT “wx%xx"
PRINT "#x%kx%"
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830 FOR delay = 1 TO 1500 @ NEXT

B40 LOCATE &, (n+3) : PRINT SPRCES$(D)
B850 LOCATE 58, (2xt+4): PRINT SPACES(S)
860 FOR delay = 1 TO 900 ¢ NEXT

870 NEXT

880 ?

890 WEND

900 END * of program

9i0 ? :

920 * Data for descriptive layout

330 7

940 DATA Fast,Slow,Long, Medium, Bhort
350 DATR Envelope, Attack,Sustain, Decay, Type
960 DATG F,L,F,F,L.5,F,H,8,F,H,F

970 DATA M, L,F, M L,S, M H F, M H§

980 DATA S,i,F,S5,L,5,5,H,F,5,H,5 .

390 DATA steady,vibrato, failing, rising

Tone envelopes

Much of what is said about the structure of volume envelopes
also applies to tone envelopes. This time, though, itis the pitch of
the sound that can be changed during the execution of a SOUND
command. Their main use in sound effects is to simulate the
noise made by fast-moving craft or vehicles.

When a jet fighter passes overhead, the noise it makes gets
iouder and louder until it is directly above, and thenit gets softer
as it goes away. The pitch also changes because of something
called the Doppler effect - it falls continually from the time the
aireraft is directly overhead until it is completely out of earshot.
You can hear a speeded-up version of this in the ZOUNDS
program if youuse ENV 5 and ENT 3. This type of effectismuch
used in arcade games to provide realism and to add excitement.

The opposite effect is necessary when you simulate an aircraft
taking off, when the pilot has to gun the engines to give
maximum power. The pitch of the sound then increases
continuously until the turbines reach their maximum speed. You
can get an idea of a rising pitch by using ENT 4 with any of the
longer volume envelopes provided by the ZOUNDS program.
Note that the ENT statement has no effect on the length of the
gound (unlike ENV), only on the pitch.

As we saw for the volume envelope, the structure is:

ENT {(envelope number?, {enivelope sections)

where <envelope number>> is from one to fifteen, and <envelope
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section> can be from one to five. Each <envelope section>>
comprises:

(step count), (step size), (pause time)

All of these are integer expressions. The <step size> is the
required change in the tone period of the pitch you require, and is
positive if vou want the pitch to go down, and negative if you
want the pitch to go up. Ifyou think aboutit, this is the right way
round’

If you put a minus (-) sign in front of the <envelope number>it
will keep repeating until the end of duration given in the
SOUND command. This is useful for things like vibrato.

PLAYTIME

If you would like to hear some of the possibilities for sound
effects on the CPC464, load the next program from Datacassette
A,ZAPPOW2, and runit. This programisnot listed here, but you
can put it up on the screen if you wish.

QOur favourite is the train!

TESTING

Many aspects of the SOUND commands will already be familiar
to you from the work we did on themin Part 1. The really clever
bit about them, however, is the way you can fit the different
elements together to produce the sound that you want. Run
SAT9 to check how well you have grasped the principles of
multisection envelopes.

Sound FX
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Chapter 10

MUSIC

Before you start reading this chapter it is worth reflecting that
there are four sorts of people in this world. There are those who
can program computers and read music; those who can’t
program computers but can read music; those who can program
computers but can’t read music; and those who can neither
program computers nor read music.

It is only fair to tell you that if you really can’t read musical
notation, it is going to be a bit difficult to understand what
follows. So, it would be entirely understandable if you skipped to
the next chapter.

BOGEY MAN

In Part 1 we gave you a dozen lines of programming which you
could enter to make the CPC464 play ‘A Familiar Tune’. The
tune, as you will all have found out, was Colonel Bogey. Since
then you may well have tried out a few more tunes yourself. To
remind you of the eriginal, however, here it is again:

i0 REM A Familiar Tune

20 SOUND 1,213

30 SOUND 1,253, 60

40 SOUND 1,0,40

50 SOUND 1, 253

&0 SUOUND 1,239

760 SOUND 1,213

Music
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80 SOUND 1,127, 40
90 SOUND 1,0,1

100 SOUND 1,127, 40
110 SOUND 1, 159, 60

120 END

But this is a very clumsy way of programming music - especially
if it is a fairly long tune. Now that you know how to use the
DATA and READ commands you can learn the more elegant
and economical methods for programming your CPC464 to play
music.

Rather than having a series of SOUND commands, it is much
better to use variables as arguments. For example:

SOUND ch, per,dur, vol, ev, et, nse

You can now put all the values into DATA statements and use
the READ command to update the variables before executing
the sound command.

Let’s go back to Colonel Bogey again. For simplicity’s sake we
will leave off the volume, envelope and noise arguments, and use
channel 1 only., Our main loop then becomes:

10 FOR count =1 to 10
20 READ per,dur

30 SOUND 1, per,dur

40 NEXT count

90 END

As you can see, this routine will play any tune that comprises 10
notes since all the music is contained in the constants in the
DATA statements. To finish off our new-look tune program you
must therefore enter:

60 DATA 213,20, 253, 60, 0, 40, 253, 20, 239, 20,
213,20,127,40,0, 1, 127,40, 159, 60

If you run this program it will sound (if you haven’t made any
mistakes) exactly like our original version of Colonel Bogey. But
why, you ask, go to all this bother? Well, there are many
advantages. One is that it is much easier to change individual

Music



constants in the DATA statements than wading through
endless SOUND commands, let alone having to enter them in
the first place. Another is that you can easily change certain
arguments for all or part of the tune. Try changing, for example,
the SOUND command in the new tune program as follows:

30 SOUND 1, per*2,dur

There couldn’t be a simpler way of shifting a sound by one
octave.

ORANGES AND LEMONS

Now let’s get back to music and have a look at a new tune - a
waltz this time:

Oranges and Lemons : ' _ Traditional
1 1 i | 1
1 ] |
¥
1 1 1
) | 1 1 1
1
v ]
.
) r
L I
gt
‘ -
i -«
Lo
@ —
y = !
o/ 1
f
A 1§ 1
L ¥

Like many tunes this is made up of a series of four-bar phrases,
but the interesting thing is that there are only two basic patterns
of notes in all six phrases. The first two phrases are, of course,
identical. But the third phrase is also the same only it is

Music
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transposed down by three semitones. The fourth phrase uses the
second pattern although it is only slightly different to the first
one, but the fifth phrase is the first pattern again. Finally, the
sixth phrase is the same as the fourth one but transposed up five

semitones.

The tune in BASIC

100 *oranges and lemons
110 °?
12C FOR phrase=l to 6
130°
140 IF phrase=1 then restoré.jeo
;_ 150 IF phrase=2 then restore 360
160 IF phrase=3 then restore 360
170 IF phrase=4 then restore 410
180 IF phrase=5 then restore 366
190 IF phrase=& then restore 410
200 *
210 FOR note=1 to 12
220 RERD pitch,duration
230 i
240 IF phrase=1 then period=pitch
250 IF phrase=2 then period=piteh
260 IF phrase=3 then period=pitch#1. 335
270 IF phrase=4 then period=pitch
280 IF phrase=5 then period=pitch
290 IF phrase=6 then periocd=pitch/1.335

300 °

Music




310 SOUND 7,perind,duration

320 NEXT note

330 NEXT phrase S |
340 END T
350 7

360 *first pattern

370 7

380 DATA 159,40, 190, 40, 159, 40, 190, 40, 239, 40, 213, 20

390 DATA 190, 20, 179, 40, 213, 40, 159, 40, 190, 40, 239, 80

400 °
410 'second pattern

420 °

430 DATA 213, 40, 253, 40, 213, 40, 319, 40, 319, 40, 284, 20

440 DATA 253,20, 239, 40, 284, 40, 213, 40, 319, 80, 319, 40

As vou can see, this program consists of one loop that plays the
notes in a phrase nested inside a second loop that selects the
phrase to be played. The phrase selector uses the RESTORE
command to set the pointer to the appropriate block of data
statements, so that the READ command in line 220 can put the
appropriate data into the variables ‘pitch’ and ‘duration’. The
correlation between musical notes and the figures in the data
statements read into ‘pitch’, is given in Appendix VII of the
User Guide.

The intermediate variable, ‘pitch’, is then used to generate the
variable ‘period’ according to a second phrase test. An
approximation of the five semitone transpositions are achieved
by multiplying and dividing ‘pitch’ by 1.335.

We now arrive at our solitary SOUND command in line 320. You
will notice that the channel value is 7, so that all three channels
function simultaneously.

If you look at the music a few pages back, you will notice that the
second pattern doesn’t have 12 notes at all;itonly has 10. Sohow
come we have 12 constants in the DATA statements? If youlook
closely, you will see that what we have done is to break both the
two long Gs into two.

Music
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Further development

Qur melody above was kept deliberately simple so that you could
understand the general principles involved. No attempt was
made to vary the volume between phrases, and the tone and
volume envelopes were ignored completely. So why not try
modifying the program to include these things? You could also
nest the main loop inside a further one which repeated the tunea
certain number of times. How about a different volume envelope

for each time round the loop?

Another thing would be to plug your hifi into the stereo
connection at the back of the CPC464 (the minijack socket
marked ‘1/0’). You could then change the channel value between
phrases so that you get a ‘call and answer’ effect between thetwo
stereo channels.

Anyway, you should now know enough to program almost any
single-part melody into the CPC464 and are probably quite
capable of making good use of the creative effects possible with
the SOUND commands in Amstrad BASIC.

SERIOUS STUFF

The next program on Datacassette A is MINUET by J. S. Bach.
It is unlikely that any other composer has had his music
transposed for so many different instruments. Even when he
originally wrote a piece for harpsichord, it may well have since
been adapted for piano, organ, guitar, orchestra, or brass band.
So here we have a continuation of the trend - a version for the
Amstrad CPC464 Colour Personal Computer.

Apart from being a very good rendering of the piece, there are
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some details of this program that are worth discussing - before
or after you have played it!

Our intention is to show you quite how good a piece of serious
music can sound on the CPC464. However, it was necessary to
use commands and techniques that you won't find explained
in this part ot the course. But there is nothing to stop you having
a look at it on the sereen if you wish.

The first thing you will notice about it is that three voices are
used to give melody, accompaniment and bass lines. This
requires a fairly detailed description of the more subtle
operations of the three sound channels, and will have to wait
until Part 3 of this course. You may also find unfamiliar
commands used here and there. Again, unless you want to teach
yourself from the User Guide, these will have to wait.

Having said all this, it is worth listing the program on the screen
to see how it was put together.

TESTING

Don’t worry, this isn’t a test of musical knowledge. Run SAT10

to check up on your understanding of the keywords and

techniques used in this chapter.

 Music
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Chapter 11

ADVENTURE

One of the most popular sorts of computer game is the adventure,
in which you enter into a world of fantasy that only exists in the
mind of the programmer. By typing in commands and
information you become an integral part of a saga that the
computer creates by telling (through the screen) where you arein
time and space. what your surroundings are and the latest event
in the story. The fascination lies in the fact that you can
influence the course of events and that the game is played out
differently every time.

Most adventure games are based on the idea of a maze, or a
building with lots of rooms, which you have to find your way
around in search of various useful or valuable objects. There
may also be traps and hazards or even (in the story) mortal
danger. The ultimate aim is usually the retrieval of a particular
object and successful escape.

Load the next program from Datacassette A, ADVENTUR. It
is the example we are going to use for teaching you how to write
your adventure games.

ROLAND IN THE HOUSE

ADVENTUR is very typical of this sort of program. The story.
is that you want to spend a quiet afternoon programming on
your CPC464, but someone has left all the bits you need in
different rooms of the house. The objectis to find them all and set
up your system somewhere without interruptions.

12



128

There are three sorts of command:

O Direction commands:

n = north
e = east
8 = south
w = west
u = up
d = down
O One-word commands:
help
look
list
quit
O 7Two-word commands:
get....
drop....
open . ...
close . ...
pull .. ...
plug .. .. . .

‘Whenever you get the prompt sign (=), enter one of the above
commands. You can always type ‘help’ if you get really confused.

PLAYTIME

This is where you take some time off and just enjoy playing the
game. Even a simple adventure like this can be quite addictive,
8o don’t be surprised if youdon’t get back to this book for a while.

JUST TO RECAP

When you have played this adventure a few times and have
found out where everything is and what you need to complete the
game, you may have several ideas about how you would like to
change it. Perhaps you would like to add some more rooms and
objects, or perhaps you would like to rename all the rooms to
make them into caves. Whatever yourideas, you will be unable to
make any changes until you understand how the program has
been put together.

When you study the listing later in this chapter you may be
totally put off by its apparent complexity. Please don’t be; you
will soon see how simple it really is and should be able to
recognise the commands used, all of which have been explained
in previous chapters.

Adventure
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There are, however, a few points that you need to know about
before you begin.

A few points

You will have noticed some variables with a percent sign, %,
after them. The first of these occurs on line 500:

FOR i%x = 0 TO 5

This percent sign tells the CPC464 to handle the variable in a
special way.

When the CPC464 is dealing with numbers it uses what is called
‘floating point’ arithmetic when performing calculations and
storing the numbers. This is very sensible really since it allows
you to use numbers that have a fractional part, ie. lots of
decimal places, like pi, (3.1415926). Numbers such as these are
called ‘real’, because they are!

It was explained in Part 1 of this course that despite the
cleverness of the CPC464 it is possible to end up with an answer
that is not quite what you expected. For example, suppose you
had performed a calculation which you have worked out should
give the answer 5. You have put in a program line:

IF »=5 THEN GOTD 2000

However, you find that the CPC464 refuses to go to line 2000 so
you get it to print the value of ‘x” and you get the answer
4.9999999. What happened is that somewhere in the working a
very small inaccuracy got multiplied enough forit to matter. You
don’t believe it can happen? Try this:

10 FOR n=1 TD 10 STEP .13
20 PRINT n

30 NEXT n

Bearing such things in mind, you know that you can overcome
such problems by using keywords like ROUND or INT.

Prevention is better than cure though and you can prevent
decimal errors by telling the CPC464 to treat a number as an
integer. That is what the percent sign is for. You see, even when
calculating 5+4, the CPC464 still uses floating point like this:

5.0000000 + 4.0000000 = 9.0000000
You or I would not do that. When we see an integer number we
use integer arithmetic, when we see a fractional number we use
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floating point arithmetic. The CPC464 hasto be told everything.
In an adventure game there is little or no need of fractional
numbers so we can work in integers, thus ensuring thaterrorsdo
not occur and sometimes making calculations faster.

True or false? L e

As you looked through the listing you may have thought that
some of the IF statements looked incomplete, for instance, line
1310:

IF INSTR{inv$, command$) THEN GOSUB 1730

The INSTR function is not compared to anything, so howcan a
decision be made? In Chapter 7 brief mention was made about
the logical value of a condition. It will have a value of -1 if true
and 0 if false. In the line:

IF x=3 THEN...

the condition is x=5. You can find out whether or not it is true by
entering:

PRINT x=3

You can do this for any condition because the answer can only be
true or false. Fair enough you might say, but what about this
line:

IF x THEN...

If ‘x’ what? The logical value of the condition ‘x’ depends on the
actual value of ‘x’. The condition ‘x’ will be true if ‘X’ is not zero
and false if it is. It’s as simple as that. The keyword INSTR
returns a number that gives the position of the first character
of the searched-for string in the search string. If the searched-for
string is found, the result will be non-zero (true); if not it will be
zero {false).

Now you should be able to understand how line 1010 (and all the
others like it) are able to work. It is a very useful concept.

DESIGN OF ‘ADVENTUR’

Imagine you had to design an adventure game from scratch
(don’t worry, you won’t have to here). In Part 1 of this tutorial
guide (Chapter 9) a programming technique called
Programming Development Language, or PDL for short, was
introduced as a method of training you to think in a logical,
structured way. We gave an example of a postman delivenng
mail to a street of houses.
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The rest of this chapter will now show you:

O How the PDL translates into a working pr'ogré.th
O How to modify the program to change the story

A little PDL

There are many ways of writing PDL, and no-one ought to say
that their way is better than anyone else’s. Apart from the
limited number of kevwords used, the main objectis to make sure
that the routines and subroutines are nested in logical structures
- hence the term (which you may have already heard) structured
programming.

Below is the PDL of our adventure game, and you can see that
although the BASIC takes 10K of memory, the PDL outline is
very compact.
If command entered
Then make sense of command
In case:
move command-—
If direction not allowed
Thern give message
Else change location
action command-—
If action not possible

Then give message

Else carry out action.

N

instruction (help, list, quit, look)
carry dut instruption
If end of game conditions satisfied
Then congratulations

Else wait for command

Adventure



Obviously, this is a broad outline and does not include the
detailed subroutines necessary to carry out the detailed tasks.
But it gives a nice, clear overview of the program and can be used
as an ‘index’ to the different tasks to be carried out.

100
110
120
130
140
150
160
170
180
190
200
210
220
230
240
250
260
270
280
290
300
310
320
330
340
350
Se0
370
380
330
490
410
420
430

460

anrg
450
460
470
480
4390
S00
510
Fz20

132

' Arnold Adventure
* DA 3I0/9/84
' Initialise

CLEAR
scrwidth=40 ° or change to 80 and use MODE 2

MODE scerwidth/40-0,25

BORDER 24

INK ©,3: INK 1,24

PAPER O: PEN 1

LOCATE 12,5

PRINT"Arnold Adventure™”

LOCATE 1,8 : ' ' '
PRINT" In this adventure you are trying to
PRINT" have a guiet afternoon playing on your
PRINTY CPC464 byt someone has left ali the"
PRINT" things you need lying around the house"
PRINT

PRINT" The object is to find them all and set"
PRINT" up your system sovewhere without any"
PRINT" interruptions. Beware of the cat!”

11

PRINT _ _
PRINT" Press any key to start® s
WHILE INKEY®$="" @ WEND :
CLS ' : .
BORDER 23:INK 0,23 ) 3
INK 1, 13INK 2,3:INK 3,8 o - ;

’ Read map

T

rooms=11l ! items=11 ‘*number of rooms and items(-1)
fixed=7 ' the first (fixed-1) items are movable, rest
not

held=0rheldmax=4 ' max number ef objects holdable
goes=0 * number of goes

T

DIM ext(5) ' optional
FOR i%=0 TO 5
READ ex${i%} : NEXT
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530 ' Read rooms

sS40 7

550 DIM loc$(rooms),dir${rooms),dest${rooms)
560 FOR i%=1 TO rooms

S70 READ loc$k(i%) , dirg{i%), dests{ik)
S80 NEXT

990

600 * Read objects

610 °

£20 DIM object$(items),objloc(items)
630 FDOR i%=0 TO items

640 READ object$(ik),objloc(i¥)

€50 NEXT

&60 °

£70 closed=—-1liopen=0ionn=—1ioff=0
680 backdoor=closed:frontdoor=closed
690 switch=offiplugged=off

700 DIM swH(l) @ sws(Q)="gff" : sw(i)="on"

710 position=3 'initial position

720 directions="NSEWDU"

730 get$="GETPICKTAKELIFT"

740 put$="DROPUTLEAVE"

750 pul$=""~RULLPUSHPRESSTURN"

760 invE="INVENTORYLIGT"

770 clo$="SHUTCLOSE"

780 ope$="0OPRPEN"

790 loo$="LOOKWHEREEXAMINE"

800 qui$="RUITENDSTORF INISH"

810 plus="PLUGCONNECT"

820 hel$="HELD"

830 nul$=CHR$(0) ’ for blanking

840 °

850 GOSUB 2140 : REM look {for starters)

860 °

870 ° Main loop

880 °

890 PRINT

900 INPUT ") command$

910 IF commands$="" THEN 830 ' ' .
920 IF LEFT$(command$, 1)=" " THEN command$=MID$ (command®,
2) : B60OTO 910

930 command$=UPPERS (command$)

940 goes=goes+l1

950 °

960 * Now parse the string

9370 °

980 * one word

390 *

1000 IF LEN(command$)=1 THEN GOSUE 1270 : GOTO 1190 :REM
move

1010 IF INSTR({inv$, command$) THEN GOSUB 1730 : GOTO 1190
REM inventory
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1020 IF INSTR(loo%, command$) THEN GOSUB 2120 : GOTO 1190
REM look

1030 IF INSTR{qui%,command$) THEN GOSUR 2070 : 6070 1190
REM gquit \

1040 IF INSTR(hel$,K command®) THEN GOSUR 2380 : 6070 1190
REM help

1050

1060 * two words

1070 °

1080 d%=INSTR{commands,6 " ")
1090 IF d%=0 THEN PRINT® I don’t understand that":GOTO 1210

1100 noun$=MID% (command$,d%+1} : command$=LEFT$ (command$,
d#%-1)

1110 IF INSTR(moun$," *) THEN P$="0Only two words at a time
please" :GOSUB 2680: GOTOD 890

1120 IF INSTR(get$, command$) THEN GOSUB 1380
REM get

1130 IF INSTR(put$, command®) THEN GOSUR 1520
REM put

1140 IF INSTR(pul%,command$’ THEN GOSUE 18350
REM pull

1150 IF INSTR(clo%,command$) THEN GUSUE 1840
REM close

1160 IF INSTR{ope$, command$) THEN GOSUB 1930
REM open

1170 IF INSTR(plu%,command$) THEN GOSUE 2270
REM plug

1180 PRINT "I den’t know how to do that';
1196 ° )
1200 GOSUB 2470 ' is adventure complete

1210 °

1220 BOTO 890

1230 °

1240 7

1250 * Move

1260 ° -

1270 du=INSTR(direction%, commands$)

1280 IF d%=0Q THEN P%$="] don’t know what you mean":GOSUB
ZEB0: GOTO 1340

1290 di=INSTR(dir${position), commands)

1300 IF d%=0 THEN P$="You can’t go in that direction”:GDOSUB
2680 : GOTO 1340

1310 IF (position=4 OR (position=3 AND d%=1)}) AND backdoor=
closed THEN P+="The back door is closed":GOSUE z680: GOTO

1340
1320 IF (position=1 OR (position=2Z AND d%=2)) AND frontdoor=

closed THEN P$="The front door is closed":GOSUB 2680: GOTO
13460

1330 position=ASC( MID$( dest¥(position),d%, 1 ) )-64 3
GOSUR 2140

G0TO 1130

GOTO 1190

GOTO 1130

GOTO 1180

GOTO 1190

8070 1190

134 Adventure




1340 command$=riuls ¢ RETURN

1350 °
1360 * get
1370 °

1380 o%=0

1390 FOR i%=0 70 items

1400 IF INSTR(UPPER$ (object$(i%)),noun$) THEN o%=o%+1 &
GOSUR 1440 @ GOTO 1430

1410 NEXT

1420 IF o%=0 THEN R$="1 don’t know what that is":GOSUB 26
1430 commandE=rul$ ¢ RETURN

1440 IF i%d=fixed THEN P#="You can’t take the "+object®({i
(GO0SUER 26803 G0TO 1480 '

1450 IF held=heldmax THEN p$="Your hands are full":GB0OSURB
ZE80:1G0TO 1480 '

1460 IF objloc(i®)=position THEN P$= "Got it":G60SUB 26801
hald=held+l:obyloc{ik)=0 ¢ GOTO 1480

1470 IF objloc(i%)=0 THEN P$="You’ve already got it":GOSU
2680 ELBE P$="It s not here":GOSUR 2680

1480 RETURN

1490 °

1500 ' put

1510 °

1520 o%=0

1530 FOR i%x=0 TD items

1540 f£f4=0

1550 IF INSTR{UPPER${object$(i*)),nount) THEN o%=o%+]1 @
GOSUB 1&00

1S60 IF o%)0 THEN iX=items

1570 NEXT

{580 IF o%=0 THEN P$="I1 don’t know what that is":GOBUB 26&
1590 command$=nul$  RETURN

1600 IF objloc{(i%)=0 THEN P$="You drop the "+objectH(i%) :
GOSUR Z6B0theld=held-itobjloc{i%)=position ELSE P$="You
havern’t got a " +object$(i®) :GOSUB 2680

1610 RETURN B

1620 °*

1630 * pull

1640 * : .

1650 d%=INSTR ("HANDLEDOUOR" , nouns$)

1660 IF d%=0 THEN P$="No point":GOSUBR 2680: $5OTO 1690
1670 IF a%=7 THEN ' goto the open door routine

1680 IF position=2 THEN switch=—<{l+switch): P$="The handl
ciicks into the "+sw$(ABS(switch))+" position”:GOSUR ZE80
ELSE P$="1 see no handle":G50SUB 2680

1690 command$=nul% ¢ RETURN

1700 7

1710 ' inventory

1720

1730 temp=0 R
1740 P$="You are carrying ":BOSUB 2680
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1730 o%=0

1760 FOR i%=0 TD items :

1770 IF objlocli%)=temp THEN P$="a "+objects(iX)+" "i
GOSUBR 2GRN o%=o%+l

1780 NEXT

1790 IF o%=0 THEN P$="rnothing “:GOSUB 2680

1800 commandd=rul$ I RETURN

1810

1820 * close

1830 °

1840 d%x=INSTR("DODR", nouns$)

1850 IF d%{}1 THEN P$="] can’t close that":GOSUE 2680:
GOTO 1910

1860 IF positiom4 THEN P$="What door?":GOSUB 2680°¢ GgoTo
1910

1870 IF {(position=1 OR position=2) AND frontdoor=closed
THEN B%$= "The front door is already closed":BOSUE 26803

GOTO 1310
1880 IF (position=3 OR position=4) AND backdoor=closed

THEN P$="The back door is already closed":GOSUE 26R0:

GOTO 1910

1890 IF (position=1 0OR position=2) THEN P$="You have closed
the front door":BOSUB 2680: frontdoor=closed

1900 IF (position=3 OR position=4) THEN P$="You have rclosed
the back door:BOSUR 2680: backdoor=closed

1910 command$=nul$ @ RETURN

1920 °

1930 ' open

1940 °

1950 d%=INSTR{"DOOR", noun%$)

1960 IF d%{(})1 THEN P$="1 can’t open that*":B0OSUB 2&80: GOTO

2030
1970 IF positiom4 THEN P$="What door?":BOSUB 2680: GOTO

2030

1980 IF (position=1 OR position=2) AND frontdoor=open THEM
p$="The front door is already open":GOSUB 2680: GOTC 2030
1990 IF (position=3 OR position=4) AND backdeoor=open THEN
Ps$="The back door is already open":GOSUBR 2680: GOT0 2030
2000 IF (position=1 AND frontdopr=closed) OR {(position=4
AND backdoor=closed) THEN P#="Hard luck. You have locked
yourself out":BO0SUB 2680:650T0 23580

2010 IF position=2 THEN P%$="You have opened the front door™:
GOSUB 2680: frontdoor=open

2020 IF position=3 THEN P$="You have opened the back door”
tGOSUR 2680 backdoor=open

2030 command$~=nul$iRETURN

2040 7

2050 T quit

2060 7

2070 P$="Do you really want to stop (Y/N) ":G0SUB 2680
ZOR0 INPUT *", command$
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Z090 IF UPPER% (command$)="Y" THEN END

2100 commandd=nul$ ¢ RETURN

2110 7

2120 7 look

2130 ° S .

2140 P$="You are in the "+loc$(position) :GOSUR 2680

2150 P$=", Exits lead ":GOSUER 2680

2160 FOR i%=1 TO LEN(dir$(pesition))

2170 tempd=MID® (dir$(positiom), 1%, 1)

2180 Pe=exd (INSTR(direction$, temp$)-1)}+", ":BEOSUB 2680
2190 NEXT

2200 Ps="and you can see ":GOSUB 2680

2210 temp=position

2220 BOSUB 1730

2230 command$=rnul% : RETURN

22490 °

2250 ' plug in

2260 ° e e o _
2270 IF position=5 THEN P$="Your family are watching TV an
stop you. ":GOSUB ZE80:60T0 2340

2280 IF objloc(i) (310 THEN p%="The monitor isn’t here':
GOSJUE 2680:60TO 2340

2290 IF objloc{(3) {310 THEN p%="The computer isn’t here':
BOSUR 2680:G0OT0 2340

2300 IF position{)10 THEN P#="There's no sucket in here.":
GOSUB 2680: GOTO 2340

2310 1iF INSTR("CTMG&OMDNITDRﬂMSTRQDCPC&B&CUMPUTER",ﬂoun$)
=0 THEN P$="I can’t plug that in.":GOBUR 6801 GOTO 2340
2320 plugged=onn

2330 IF switch=off THEN P$="Nothing happens. " s GOSUR 2680
ELSE 9¢="Your computer springs into 1ife. “:G05UB 2680
2340 command$=nul$ 3 RETURN

2350 °

2360 ' nelp

2370 °

2380 RESTORE 3190

2390 p$="The commands are " ! GOSUR 2680

2400 FOR hl=0 TO 25

2410 READ p$:p$=" "+p$:GOSUE 2680

2420 NEXT

2430 command$=nul$ ¢ RETURN

2440

2450 ' "finished?"

2460 °

2470 fr=10 'finish room

2480 IF position(}fr THEN RETURN _ _

2430 ready=(objloc(1)=fr) AND (objloc(3)=Ffr) AND (objloci
=fr) AND (objloc{(S)=Ffr)} AND (objloc(&)=fr) '
2500 ready=ready AND switch AND piugged

2810 catout=((objloc(®)=4) OR (objlec(d)=1)) AND backdoor
=closed AND frontdoor=closed
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2520 IF NOT catout AND objloc(3)=fr AND objleoc(0) (30 THEN
pg= The cat keeps Jumping on the keyheoard"i1GOSUE 2680:
objloc(O)=Ffr

2530 ready=ready AND catout

2540 IF NDOT ready THEM RETURN

2550 PRINT

2560 p$="Well done. You have completed the adventure in":

(OBLE 2680 .

2570 p$=5TR%(goes)+" goes. Now you can enjoy a quiet

afternoon’s computing" :GOBUE 2680

2980 PRINT:BRINT

2590 P%$="Do you want to play again? {Y/N) ":BE0SUE 2680

ZEQ0 INPUT YY", command$

2610 IF UPPER® {(command$)="%" THEN RUN

2620 END

2ESC Y

2640 7 Brinting routine

2650 7 Enter with P$=text to be prinfted

ZEED * Return with cursor in fpllowing positien

ZR70 ' therefore CRLF neeced before

2680 pE=pH+" "

2690 In=LEN({p%)} i xp=P0S (#0)

2700 IF INSTR{(p%," "“3=0 AND (In+xp)) (scrwidth—32) THEN
PRINTIxp=0

Z710 FOR pr#=1 TO In-i

2720 sp=INSTR(pr%, p$, ™ ")

2730 IF sp+xp ) (serwidth~2) THEN PRINT :xp=xp-scrwidth

2740 DPRINT MID$(p$, pr¥k, 1)

2750 NEXT

2760 RETURN

2770

=780 "

Z730 ' Directions

=800 7

2810 DATA North, South, East, West, Down, Up

2820 7

26830 ' Locations Nos (rooms)

2840 T name,directions out, resp. room numbers out (A=1
P |

2850 7

2860 DATA front garden,N, B

2870 DATA hall, NSEU, DAEM

2880 DATA kitchen, NS, DR

Z89¢ DATA back garden,S,C

2900 DATA lounge,W,R

2910 DATA bathroom, E, H

2920 DATA front bedroom, N, H

29%0 DATA bedroom landing, NSEWUD, IGJFKR

2340 DATA back bedroom, 5, H

2950 DATA box room, W, H

2960 DATA attic,D,H
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E I )

2580 ' Objects Noi(itews+1)
2990 name, init pos { {(=rooms)
3OO0

010 DATA black catf,Z

I020 DATA CTME40 monitar, 3

3030 DRATA TV set, D

o040 DATA Rmstrad CPC4B4 computer,?

IO50 DATHR work table, i1

3060 DATA kitchen chair, 3

IN070 DATA computer wanual,?

Joao ?

3030 ' fixed objects from no.?

Z100 7

110 DATA red handie, 2

120 DATHR power socket, 10

3130 DATA bed of roses, i

140 DARTAR rvusty dusthbin, 4

3150 DATA priceless old painting, 11

3i60 7

I170 ' Help command

3180

2190 DATA CLOSE, CONNECT, DROP, END, EXAMINE
3200 DATA FINISH, BET, HELR, INVENTORY, LEAVE, LIFT
3210 DATA LIST,LOOK, OREN, PICK, PLLUG, PRESS, PULL

3220 DATA PUSH, BUT, BUIT, SHUT, STOR, TAKE, TURN, WHERE

Putting it into BASIC

If you have already studied and understood the listing of the
adventure then you can skip this section, otherwise read on. The
program begins at the beginning and prints the title page. It
waits for you at line 360. Pressing any key starts the program
proper.

Lines 430460 set some variables whose purpose will become
clear later. Lines 490 to 510 read the first six items from the data
list (line 2810) in array ‘ex$’. Lines 550 to 580 read the next 33
data items (3%x11, lines 2860 to 2960) into arrays ‘loc$’, ‘dir$’ and
‘dest$’, respectively. Lines 620 to 650 read the next 24 data items
into arrays ‘object$’ and ‘objloc’. From line 670 more variables
are set up, including 11 curious string variables. Each of these is
formed from a number of words which can all mean the same
thing and will be used in the main loop of the program to help the
CPC464 to work out what your commands mean.

Let’s pause here for a recap on arrays, previously discussed in
Chapter 2. Arrays allow you to access ‘lists of things’ much more
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easily. To illustrate this, RUN the adventure and press ESC
when you get the command prompt.

Now type in the following lines:
o000 FOR n=0 TO 11
S010 PRINT ni" "zlocsin)

5020 NEXT n
Do not RUN this or all the variables will be lost. Instead type:

CLS:GOTO 3000

You will get a list of all the data items, called elements, of array
‘loc$’. Try it with the other arrays. All of these are one-
dimensional arrays and are the basis of the entire program.
Using these arrays the CPC464 can keep track of what is where
and in what condition.

Back to the listing now. Messages are printed on the screen by
the subroutine that begins at line 2680. What is to be printed is
assigned to variable ‘p$’. At line 2140 we find that ‘p$’ is formed
from two strings that are joined end to end. The first stringisa
standard one, ‘You are in the’, and the second will depend upon
your position. Initially your position is in the kitchen, because
variable position was set to three atline 710 and element three of
array ‘loc$’ is ‘kitchen’.

The subroutines at 2150 and 2200 put ‘p$’ together in the same
way to print out the exits and contents of the location,
respectively. Once that is done it is up to you to input your
commands.

When you do this, whatever you type in is given the variable
name ‘command$’. This then has to be analysed and checked
before any instruction can be carried out. This ‘making sense’ of
a string is called ‘parsing’, hence the programmer’s comment on
line 960. Here the INSTR function demonstratesits worth. Ifline
1000 is passed over then the following lines search vour input to
find out if there are any recognisable words within it. Any that
are recognised (those contained in those curious variables on
lines 720 to 820) are acted upon: otherwise you get a comment
back. Each action is performed on its own subroutine and each
of these is clearly marked on the listing.

Only when you get all the correct objects in the correct room and
some other conditions are met does the game end. By studying
the routine beginning at line 2470 you can find out what you
need to do in order to end the game. {If you want to find out by
playing the game and not cheating, then skip the next three
paragraphs!)
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Begin at line 2470. The finish room is room 10, i.e. the room that
is the tenth element of array ‘loc$’. This is the box room. Atline
9480 a test is made to see if your current position is room 10, 1.e.
variable position=10. If it is not, then the game continues.

If it is the correct room, we move on to line 2490 which looks
complex but isn’t really. The value of the variable ‘ready’ will
depend upon the values of the five conditions in the line. If
‘ready’ is to be true, all five conditions must be true. These five
conditions are simply elements of array ‘objloc’, which are the
objects you have to collect and put in the room. If you look
through the data list (lines 3010 to 3070) you will see that
elements 1, 3, 4, 5 and 6 are the CTM640 monitor, Amstrad
CPC464 computer, small work table, kitchen chair and computer
manual. The number after each item in this list is the number of
the room it is in to start with. Itis thisnumber that must equal 10
at the end.

Variable ‘ready’ does not depend only on the objects being
correct. You can see at line 2500 that ‘ready’ also depends upon
variables ‘switch’ and ‘plugged’ being true. These are set from
lines 1650 and 2270, respectively. And finally, at line 2530 you
see that ‘ready’ also depends on ‘catout’ which is setat line 2510.
In order for ‘catout’ to be true, element 0 of array ‘loc¥’ (the cat)
must either be in location 1 or 4 (front or back garden) and both
doors must be shut. If not, and you are not holding the cat(line
25201, then the cat jumps on the keyboard.
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To sum up, when you have the monitor, CPC464, manual, chair
and table in the box room, turned the big red handle, pluggedin,
put the cat in the garden and closed the front and back doors,
that is the end of the game!

This is the substance of this adventure game. As yvou move
around, pick things up and change the states of things like
doors, then the arrays and other variables are altered and
updated. If you look back a few pages, you will see thatisexactly
how our original PDL design was structured.

YOUR HOUSE COULD BE A CASTLE

To further aid vour efforts in understanding how this adventure
works, we will now make some modifications to the program.
Another location will be added, more objects too, and another
object to get to the box room. Interested? Then read on...

How about a garage to the east of the front garden? The first
thing to do is change the variable ‘rooms’ on line 430 from 11 to
12. This alters the DIMensioning of the arrays later. Next, add a
twelfth DATA statement to the list beginning line 2860. Each
line has three pieces of data. First the name of the location -
garage. The second part is the direction(s) out of the location.
This will be west into the front garden - W. Finally, a code letter
for the location(s) adjoining. The locations are coded A to K for
elements 1 to 11 of array ‘loc$’. The front garden is element 1 so
the letter is A. Enter this line:

2970 DATA garage, W, A

Now we must alter the data concerning the front garden. Either
EDIT or retype line 2860 to read:

Z860 DATA front garden, NE, BL

The E is added because you can now go east out of the garden
and the L is added because being the twelfth element of the array
the garage has code letter L (twelfth letter of alphabet).

If younow RUN the program you will be able to go into and out of
the garage, but of course there is nothing there.

So, now to put something in the garage. A car seems like a good
idea! First you need to change the variable ‘items’ on line 430
from 11 to 12, then add a twelfth DATA line to the objects list
beginning at line 3010. Note that some objects are movable but
others are not. The number of movable objects is determined by
the variable ‘fixed’ on line 440. At present this has value 7 which
means that the first 7 items can be moved; the rest cannot. We
don’t want to be able to move the car, sodon’t change ‘fixed’. And
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we must make sure that our new DATA line does not become one
of the first seven. Enter the following line:

160 DATA second hand carv, 12

The 12 is the location number of its position, the garage - when
you RUN the program there will be a car there!

Now let's put something inthe garage that youcan takeaway-a
bicycle. Once again change variable ‘items’ (line 430), this time
to 13. Now change variable ‘fixed’ from 7 to 8.

Our DATA line must now be one of the first eight, so we enter:
3080 DATA brand new bicycle, 12

Now RUN. Y ou should be able to pick up the bike, but not the car.

Finally we can alter the finishing conditions so that youneed a
datacassette in the boxroom before the game will end.

First, increase variables tems’ and ‘fixed’ by one again, then
add another new line:

075 DATA datacassette, 9

The 9 is the number of the back bedroom, the ninth element of
array ‘loc$’. To make the datacassette one of the items you must
collect, you must add it to the line that checksif variable ‘ready’
is true. So, to the end of the line 2490 add:

AND (objloc{(7)=fr}

The datacassette is the seventh element in its array and now
must be in the finish room. RUN the program to make sure it
works!

By now you should havea good idea of how the program works.
So why not add more rooms, a cellar, or a shed, or, better still,
why not change your house into a castle with banqueting halls,
dungeons, towers, maidens to be rescued, and dragons to be
fought. It is quite feasible. Just take your time, think logically,
step by step. Even if you are not sure, have a go.
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The best way to learn is by experiment. Learning is an adventure
too!

TESTING

Having had vour wits tested by playing ADVENTUR, it is now
time to have your memory tested by running SAT11.
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Chapter 12

WHAT NEXT?

ADVANCED AMSTRAD

Long. long ago (back in Part 1, in fact) there was a hint that the
numeric keyboard on the right of your CP(C464 keyboard could
be persuaded to produce effects other than merely making life
more easy for the typing-in of numeric values. You probably
already use the CTRL-ENTER short-cut for loading and
running programs; what you are about to learn is how you can
put vour own time-saving, single-key functions into the CPC464
to suit the type of programs that you write most often, or a
particular one you are developing at a given moment.

One of the defaults that operate on initial power-on of the
CPC464 is the definition of which characters are generated
when the keys are pressed on the numeric keypad. You can
modify this at any time. First of all press the zero key on the
numeric keypad. You get a zero on the screen, don’t you? Now try
entering the following: .

KEY 128, "hello"

Surprise. surprise, when you press the zero key again you now
get ‘hello’. instead of zero. Our new keyword, KEY, allows youto
assign whatever string you wish to any of the 12 keys of the
numeric kevpad. The command structure is:

KEY (key number}, {(string expression}

The argument <key number>>is an integer between 128 and 140,
which refers to actual key positions as shown in the following
diagram.

14



146

o T
= |13s|138 137
7 |132]133]134
129130 |131
w, - |12s|13s]13e
-

You will notice that the numbers only go up to 139 and not 140.
The thirteenth key is our old friend ENTER which, with CTRL,

yvou know very well gives:

run”

So the <string expression>> can therefore be a command for
direct execution during program input. Enter the following:

~ KEY 129, "mode 2"
If you now press the ‘1’ key you will see:
mode 2

come up on the monitor. If you now press the RETURN key, the
command will be executed exactly as though you had typed it in
directly.

And this isn’t all! You can also type in:
KEY 129, "mode Z"+chr${l3)

Remember this number. It is the ASCII code for CR, or, in plain
English, Carriage Return (the carriage referred to is that of
the electromechanical typewriters which used tobe the only way
of talking to computers). As you may have realised, this is
exactly what you get when you press the ENTER key. So by
pressing key ‘1’ on the numeric keypad the command is executed
immediately and you are automatically put into MODE 2. Try it
for yourself.

Here is an example of a short program you might like to putona
special ‘program development’ cassette, along with the setting
up of values for your favourite BORDER, PEN, PAPER and
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INK:
10 key 128, "mode O0"+chr$(13)

20 key 129, "mode 1"+chr$(l3)
30 key 130, "mode 2Z2"+chr$(l3)
40 key 131,"list"

5C key 132,"list"+chr$(13)
60 key 133, "save™"

70 key 134, " renum"

80 key 135, "auto”

When you are writing and debugging a long program, having
these functions on single keys will save a lot of tedium. Youmay
find that different types of program require different functions.
If there are a lot of screen messages, for example, you may like to
assign ‘print’ to a key to save you having to type itin every time.

FAST LOADING

Another one of the CPC464’s power-on defaults is the speed at
which programs are written onto the datacassette. For
maximum reliability, both the datacassettes that accompany
this course are written at this speed (1000 baud for the
technically minded). It is possible to double the writing speed
by entering:

SPEED WRITE 1

Any subsequent SAVE command will then write the program at
this new speed (2000 baud).

When programs written at 2000 baud are loaded by the CPC464,
it automatically adjusts its reading rate. In fact, you can mix
programs written at different speeds on the same cassette. If you
use top-quality cassettes and keep the reading head clean, there
is little likelihood of any reading problems.

To change the speed back you enter:

SPEED WRITE O | . _

What Next?
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HARD COPY

‘Hard copy’ is computer jargon for computer output or program
listings which are printed on paper. This section is intended for
anyone who has bought an Amstrad DMP-1 dot matrix printer
so that they can get printed output from their CPC464.

If vou plug the printer into the connection port at therearof your
CPC464, turn on the power and issue PRINT or LIST
commands, nothing will happen. This is because all input and
output data is handled in ‘streams’, and the printer stream has
not been specified. There are 10 of these streams, numbered 0 to
9, but we won’t be looking at them in detail until Part 3 of this
course. For the moment we will limit ourselves to the streams
numbered 0 and 8.

The stream is an optional argument in PRINT and LIST
commands, and the default is 0. For example:

LIGT 2000-

will produce an output on the screen of all the program lines from
number 2000 onwards, since O is a screen stream. If, however,
you enter:

LIST 2000~,#8

all the lines from 2000 onwards will be sent to the attached
printer rather than to the screen.

Similarly, you can enter:
PRINT #8,"This is an example of printer output®
and the string will be sent to the attached printer.

If you turn back to the ESTIM program listing in Chapter 5, the
subroutine for printing out the estimate appears to have an
unused variable ‘ # str’. If you look at the print statements in this
subroutine you will see that this isreally the variable ‘str’ in the
stream position of the PRINT command, and, since it was never
set to anything, it stays at zero - the screen stream. So set ‘str=8’
and you will get your printed estimate.

DATABASE
Qur last program on Datacassette A is possibly the best of the
lot.

If you want to catalogue your record collection, your favourite
recipes, or the names and addresses of your friends, this is a
program for you. Itislike an electronic filing cabinet, except that
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you can use lots of different labels at the same time. Once you
have built up your database file you can look it up under lots of
different headings. Soups, for example, or reggae, or whatever.

There is an example of a database file recorded after
DATABASE on the cassette. When the main menu asks what
option you want, type R; it will then ask for a file name. Enter

Count rys

and learn a bit about geography.

TESTING

This final test, SAT12, will go through all the topics covered in
this part of the course. As we said before, it isn’t an exam, it’s
merely an aid for you to check that there isn’t anything you
should go back over to make sure that you understand before
going on to the next stage.

The next stage from now is Part 3 of this course. From now on
vou will start having to learn about the strange world of binary
arithmetic, hexadecimal numbers and interrupts. Good luck!

What Next?
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LIST OF
PROGRAMS

Datacassette A contains the following programs in the same
order that they are referred to in this book. Datacassette B
contains the Self-Assessment Test (SATs) which the reader
should complete at the end of every chapter except Chapter 5.

Chapter 1 Chapter 7
SHEP WORDPUZL
Chapter 2 Chapter 8
CHATEAU BLITZ
VILLAGE

Chapter 9
Chapter 3 aprer

] ZOUNDS

SINCOS ZAPPOW?2
PIECHART

Chapter 10
Chapter 4 apter

MINUET
DIGITALC
ALARM

Chapter 11
Chapter 5 ADVENTUR
ESTIM

Chapter 12
Chapter 6 DATABASE

COUNTRYS
FLIGHTPL v
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LIST OF

KEYWORDS

The following is a list, chapter by chapter, of all the Amstrad
BASIC keywords covered in this book. Not all the variations and
extensions have been dealt with since, although this is not a
beginners book, knowledge of the CPC464’s internal procedures
is necessary for correct understanding. '

The keywords marked with an asterisk (*) were introduced in
Part 1, but are given a more thorough treatment here.

Chapter 2

DIM
READ
DATA
AUTO
RENUM
RESTORE
DELETE
LIST*

Chapter 3

PEN*
PAPER*
INK*
PLOT*
DRAW*
ORIGIN*
CLG
TAG
TAGOFF

Chapter 4

FOR-NEXT*
IF-THEN-ELSE*
WHILE-WEND

Chapter 5

ZONE

PRINT*
PRINT USING
SPACE$
STRING$

SPC

TAB

INPUT*

‘1!



Chapter 6

SIN
CO8
TAN
DEG
PI
RAD
ATN
SQR
ABS

Chapter 7

INSTR
ASC
VAL
LEN
LEFT$
RIGHT$
MID$
STR$
TIME*
CHRS
AND
OR
XOR
UPPER$

List of Keywords

Chapter 8

SPEED INK
RND* '
INT
LOCATE*
TEST
INKEY

Chapter 9

SOUND*
ENV*
ENT*

Chapter 12

KEY

PRINT #8
LIST #8
SPEED WRITE



INDEX

A Familiar Tune, 119
ABS, 79
ADVENTUR, 127
modifications, 142
Adventure games, 127
Aircraft navigation, 74
ALARM, 49
American Standard Code for
Information
Interchange, see ASCII
Amstrad DMP-1 dot matrix
printer, 66, 148
AND, 87
Animation, 96
Apostrophe, 22
Arcade games, 101
Arctangent, 72
Arrays:
one-dimensional, 21, 24
two-dimensional, 24, 107
Arrays, 24
ASC, 86
ASCII, 86, 87
ATN, 69, 72
Attack, 112
AUTO, 19

Bat’n’ball, 104

BLITZ, 109

Brackets, 13

Brickout, 101

Business programming, 51

Channels, sound, 111
Characters, control, 88
CHATEAU, 17, 21

CHRS, 88
CLS, 29, 35, 36
Colonel Bogey, 119, 120
Colours, 27
table of, 28
Command:
descriptions, 12
glossary, 13
exampie of a typical, 14
Computer animation, 96
Concatenation, 83
Conditional multistatement
lines, 48
Control characters, 88
COS, 69
Cosine, 71
rule, 73
Countrys file, 149
Current graphics pen, 39
Cursor, graphics, 35

DATA, 23, 120
Database file, 149
DATABASE, 149
Decay, 112
Defaults, 13

INK, table of, 31
DEG, 37, 69
Delay loop, 44
DELETE, 18
Design, screen, 52
DIGITALC, 486, 88, 90
DIM, 25
Display, flashing, 95
Dot matrix printer, Amstrad

DMP-1, 66
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Element, 25
ENT, 116
ENTER, 146
ENV, 113
Envelopes:
volume, 112
multisection, 113
tone, 116
Error, syntax, 12
ESTIM, 52, 55, 148
User’s Guide, 65
Example of a typical
command, 14
Exclusive OR, 87
Expression:
integer, 14
numeric, 14
string, 14

Fast writing and loading of

programs, 147

File:

Countrys, 149

Database, 149 .
Flashing:

display, 95

graphics, 96

text, 96
FLIGHTPLAN, 77
Floating point, 129
FOR-NEXT, 43, 46
Format: _

field specifiers, 55

template, 55
Functions, trig, 69, 71

Games:
“adventure, 127
arcade, 101
Glossary, command, 13
GOTO, 46 .
Graphics:
cursor, 35, 38
flashing, 96
pen, current, 39
window, 35, 37

Hard copy, 148

Index

Horizon, 80
HOUSE, 21
How to use this book, 11

IF-THEN-ELSE, 47, 48
INK, 27, 28, 31
INKEY, 106
INKEYS$, 105
INPUT, 52
INSTR, 91, 130
INT, 100
Integer:
expression, 14
number, 14
numeric variables, 20
Integers, 20

KEY, 145
Keypad, numeric, 145
Keyword, 14
LEFTS, 88
LEN, 84, 89
Lines, conditional
multistatment, 48

LIST, 17, 148
List variables, 20
List, print, 53, 54
LOCATE, 38, 39, 99
Logical values, 91, 130
Loops, 42

delay, 44

nesting, 44

MANSION, 21

MID$, 88

MINUET, 124

Mode, 27, 29

Modifications to
ADVENTUR, 142

MOVE, 38

Moving pictures, 95

MOVR, 38

Multisection volume
envelope, 113

Multistatement lines,
conditional, 48

Music, 119

Musical notation, 119




Navigation, aircraft, 74
Nesting loops, 44
Numbers:
integer, 14
prime, 81
real, 14
Numeric:
expression, 14
keypad, 145
variables:
integer, 20
real, 19

One-dimensional array, 21, 24
OR, 87 :
Oranges and Lemons, 121
ORIGIN, 33, 34, 35

Qutput, printed, 66

PAPER, 27, 28

Parsing, 140

PDL, 130

PEN, 27, 28, 32

Pen, current graphics, 39

Pictures, moving, 95

PIECHART, 39

PLOT, 30

Prime numbers, 81

PRINT, 53, 148

Print list, 53, 54

PRINT USING, 54

Printed output, 66, 148

Printer, Amstrad DMP-1 dot
matrix, 66, 148

Programming Development
Language, see PDL

Programs, fast writing and
loading, 147

RAD, 69
READ, 23, 120, 123
Real:
numbers, 14, 19, 129
numeric variables, 19
REM, 22
RENUM, 18
RESTORE, 23, 123
RIGHTS, 88

RND, 99
Roland in the house, 127

SATI, 16
SATZ, 26
SATS3, 42
SAT4, 50
SAT6, 82
SAT7, 93
SATS, 109
SATY, 117
SATI10, 125
SAT11, 144
SAT12, 149
Scientific notation, 76
Screen design, 52
Self-assessment Tests, see
SATs
Separators, 14
SHEP, 15
SIN, 69
SINCOS, 36
Sine, 71
rule, 73
Software, see Programming
Solving triangles, 71
SOUND, 111, 120
Sound:
channels, 111
FX (effects), 111
SPACES, h4 '
SPC, 53
Specifiers, format field, 55
SPEED INK, 95
SPEED WRITE, 147
Speed, writing, 147
SQR, 72
Square root, 72
STEP, 43
STRS, 85
String expression, 14
STRINGS, 54, 105
Strings, 83
Structured programming, 131
Subscripted variables, 20, 24
Sustain, 112
Syntax, 12
error, 12

Index

15
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TAB, 53

TAG, 37, 38

TAGOFF, 39

TAN, 69

Tangent, 71

Template, format, 55

TEST, 107

Text at graphics cursor, 38

Text, flashing, 96

TIME, 49, 80

Tone envelopes, 116

Triangles, solving, 71

Trig functions, 69, 71

Trigonometry, 69

Two-dimensional array, 24,
107

UPPERS, 92 : :
User’s Guide, ESTIM, 65
VAL, 85, 86

Value, logical, 91, 130

Index

Variables, 19
integer numeric, 20
list, 20
real numeric, 19
subscripted, 20
Vectors, 74
VILLAGE, 26
Volume envelopes, 112
multisection, 113

WHILE-WEND, 45, 46, 90
Window, 36

graphics, 35, 37
WORDPUZL, 93
Writing speed, 147

XOR, 87

ZAPPOW2, 117
ZONE, 54
ZOUNDS, 112, 114
ZOUNDS, 114





